Question (1)
Directions (1 - 3) : In each of the following questions, select the related letter/word/number
from the given alternatives.

forar (1-3): et weds weet # Rw a1w el # & wrafoua snw/ersg/aear # gfav|
Horse : Mare : : ?

13161 I3 1 3

(A) Fox : Vixen/wierq : faeraeT

(B) Duck : Geese/dd® : Felgd

(C) Dog : Puppy/&T : ear

(D) Donkey : Pony/aTeIT : €c¢

Correct Option : A

Explanation :
Second is the feminine gender of the first.

Question (2)

Oceans : Deserts : : Waves : ?

HEERR : YT : : dgy ;2
(A) Dust/get

(B) Sand Dunes/Ad T &rell
(C) Ripples/ela¥

(D) Sea/ATX

Correct Option : B

Explanation :
There are waves in the oceans and sand dunes in the desert.



Question (3)

38:144::54:7
(A) 80 (B) 178
(C) 100 (D) 52

Correct Option : C

Explanation :
8
[C)38 03 = 3 =120 12%= 144
4 .
5405=x= §=1{}U 10¢ = 100

Question (4)

Directions (4 — 6) : Find the odd word/letters/ number pair/number from the given alternatives.
(A) Vapour/arsq  (B) Mist/eer

(C) Hailstone/3iem (D) Fog/aIexT

Correct Option : A

Explanation :
All except Vapour are different forms of Precipitation.

Question (5)

(A) Mew/Fa13  (B) Howl/gT3eT
(C) Bark/#fealT (D) Shout/RIeelr=Tr

Correct Option : D

Explanation :
Except Shout, others are sound related to animals.



Question (6)

(A) EDUCATION (B) BEHAVIOUR
(C) LAZINESS (D) REMUNERATION

Correct Option : C

Explanation :
Except LAZINESS, the other words contain all vowels.

Question (7)

Sheela walks from A to B which is 2 km away, turns right at 90° and walks for 3 kms to point C, turns
right at 90° and walks to D which is 8 km away, turns 90° right and goes 3 km to point E. Then, once
again she turns right, 90 and walks 4 km to point F. How far is it from A to F?

e A @ B St o 2 fohell. gT B, Trefeht STl 8, &T0 3R 90° 9X 3l & T fdeg C T 31K 3 fehel. Sirehr
€, 90° TR TU 3R Hcll § AT D T 3R Telcll § S foh 8 Tohadl. g &, 90° IR &TT 3 #3ell & o7am 3
fohall. E &Y 3R STl 8] 38 T Y @ al Tl 3R 90° HScll § 7T F &y 3R 4 fhell. ST 8| AA F b

T T T 52

(A) 2 km/fRaT.
(B) 4 km/feRaT.
(C) 6 km/fhaiT.
(D) 8 km/fhaT.

Correct Option : A
Explanation :

A) C il D
3 km

A 3 km
IL! k:||:|| T

B A
2 km F 4 km
0 FEequired distance =8 — (4 + 2) = 2 kms




Question (8)

If clock is called television, television is called radio, radio is called oven, oven is called grinder and
grinder is called iron, in what will a lady bake?

T T3Y Y CollfaoteT el ST &, SollTdotalen! ISAT ShgT SATAT &, ISAT T 3T gl ST &, 3NdeT Y
TS FET SATAT § TAT ATSST T SIGT T ST &, Al ATl Hehel bl T fhas HLafr?

(A) RadioRf3ar  (B) Oven/3iiasT

(C) Grinder/amgsX (D) Iron/ligr

Correct Option : C

Explanation :
Lady will bake in an oven and oven is called grinder.

Question (9)

A, B, C, D, E, Fand G are members of a family consisting of four adults and three children. Two of
the family members, F and G are girls. A and D are brothers and A is a doctor. E is an engineer
married to one of the brothers and has two children, a boy and girl. B is married to D and G is their
child. Who is C?

A, B, C, D, E, FJur G fordl aRaR & T &, aH IR & a1 did 9o §| IRaR & al deed F
TAT G TISTRAT &] A TAUT D 811S & IUT A SiereX | E Tah Sfafaax &, S Y 3908 & oy o11s & [aarfga &
AT 37 &1 9= §, Teh oIgehT 3R Uk oigh1| B, D & fqaifed & 3R G 30 s=a §| C T &2

(A) E's daughter/E &r st
(B) F's father/F T frar
(C) G's brother/G T 1S
(D) A's son/A 3T SeT

Correct Option : D

Explanation :

From the given data we can find that (A, E) are the couple and has two child F and C. Also (B, D)
are the couple with G as their child. As it is given that there are three children in the family, in which
F is a girl, so C will definitely be a boy to satisfy one boy and one girl condition. So we can say that C
is A's son.



Question (10)

Suresh is 7 ranks ahead of Ashok in the class of 39 students. If Ashok's rank is 17th from the last,
then what is Suresh's rank from the start?

39 STAT drel fondly et 3, TUTeT & TR I R 37Meh T 7 FOR 8| AT 3120k ohT TUT 37T F 1787 8,
G T YRS U fohcTal TUTT 82

(A) 16th/ar (B) 23rd/at

(C) 24th/at (D) 15th/ar

Correct Option : B
Explanation :

Question (11)

Directions (11-13) : In the following questions, a series is given with one terms missing.
Choose the correct alternative from the given ones that will complete the series:

forder (11-13): rarfaf@a weat #, v srgeer R @ forwst v v oo 8| Rw av Raedi ¥ d g
e REed 9w st aregea w1 QU H|

BXJ, ETL, HPN, KLP,

(A) NHR (B) MHQ

(C) MIP (D) NIR

Correct Option : A

Explanation :
The first, second and third letters move three steps forward, four steps backward and two steps
forward respectively. So, the required answer is NHR.

Question (12)

Ml Ny Ol L1 R1 IlVl—



(A) A (B) E
(C)FDO)H

Correct Option : B

Explanation :

The series consists of two groups (M, O, R, V) and (N, L, I, ?). The letters in the first group move 2,
3, 4, ... steps forward. The letters in the second group move 2, 3, 4, ... steps backward. So E is the
required answer.

Question (13)

2,1,2,4,75,
(A) 13.5 (B) 14.25
(C) 14.75 (D) 15.25

Correct Option : C

Explanation :
2x025+05=1

1x05+15=2
2x0.75+25=4
4x1+35=75
75x1.25+45=1475

Question (14)

Arrange the words given below in a meaningful sequence.
foIa=T ersal Y Uk AT HA H I HY|

1. Publish/9erRreT

2. Imagine/faaR =T

3. Write/fer@s1r

4. Proof read/q® eNersT



5. Print/&uars

(A)2,4,3,1,5(B)4,2,1,3,5
(C)2,3,1,4,5(D)2,3,5,4,1

Correct Option : D
Explanation :

23858481

Question (15)

A square sheet of paper has been folded and
punched as shown below. How will it appear
when opened?

FIE F UF FNEN W2 Fi A4 900 ATER G151 390
99 fFa s 81 @ied W T8 S faam?

Question figures /WA 3THfaal :

Answer figures/3WT 3afaal
00
o° %% 2 %% °° o 2 090 99,
10 0 o [+] [+] o
10 O [} (=} [+] o
% o° c’om °o° Dot %0 00°
(A) (B) (€ (D)

Correct Option : B

Question (16)

From the given alternative words, select the words which can't be formed by using the letters of the
given word.

U 31T dnfoddh el H A, 3T 2Use, ol TTA HY, ST ST ITT 2Meg; & 3T&RT T YATIT T AeT §1TT ST el
2l



DISSEMINATION
(A) INDIA

(B) MENTION
(C) NATIONS
(D) ACTION

Correct Option : D

Explanation :
There is no C in DISSEMINATION.

Question (17)

Which of the following numbers is wrong in the given series?
fET 1T el 7 oot # & -2 Fear aTed §2

21, 28, 33, 35, 37, 36

(A) 21 (B) 36

(C)33 (D) 35

Correct Option : D

Explanation :
The sequence in the differences of the numbers is 7, 5, 3, 1, —1. Substituting 35 instead of 36 will
satisfy the sequence.

Question (18)



Direction (18-20) : In question no 18 to 20,
select the missing number from the give
responses.

frdor (18-20) : wo Hem 18 § 20 W, fau wu fameai

1[2[1]4]4
2|[5[6[2]5
1/93]|?]1
1[7[2]8]9
(A) 9 4
(€) 5 (D) 6

Correct Option : D

Explanation :
(D) 122 = 144
252=625

19% =361
17* =289

Question (19)

2[3[a[21
1(3(5]15
3[4[2]>?
(A) 29 (B) 45
(C) 56 (D) 51

Correct Option : B
Explanation :
(B) 2* + 3*+4' =21
1*+3*+5=15
3*+42+2=45



Question (20)

2%
<>
(a) 72 (B) 80
(C) 56 (D) 70

Correct Option : A
Explanation :

(A) (3+2)x4=20
(5+2) x6 =42
(1+2)x2=6
(7+2)%8="72

Question (21)

If "Behind every successful man there is a woman" can be coded as "63520019052401052", then
what is the code of "Empty vessels makes much noise"?

Ife "Behind every successful man there is a woman" @l "63520019052401052" & e fohar 5
HhT &, AT "Empty vessels makes much noise" & ¢ T g2

(A) 5261529452

(B) 6268264862

(C) 6226482462

(D) 5294526152

Correct Option : D
Explanation :



(D) MNo.of Reverse of
Words (AF
letters (A) (AF
Behind i) 36 63
Every a3 25 a2
Successaful 10 100 001
Man 3 09 ad
There =1 25 52
is 2 04 40
a 1 01 10
Woman 5 25 52

O Behind every successful man there 1s a
woman = 63520019052401052

No.of , | Reverse of

Words (A
letters (A) (A)
Empty 5 25 a2
Vessels 7 449 G
Makes 5 25 52
Much B 16 6l
Noise 5 25 52

0 Empty vessels makes much noise
=5294526152

Question (22)

If 12 x 7= 408, 9 x 8 =207 then 13 x 7 = ?
I 12 x 7=408,9%x8=207¢, @13 x7="2
(A) 91

(B) 190

(C) 901

(D) 109

Correct Option : D
Explanation :
(D) 12 x 7 =84 0 804 % #9%=® 408

0x8=720702 %#FE® 207
13=7=91=901 %¥%=® 109



Question (23)

If a mirror is placed on the line MN, then
which of the answer figures will be the right
image of the question figure?

7fz T90 Fi T@ MN W W@ 90, a 3@ a5
d ®F, 999 AP F1 G gfataq g
Question figure /W97 3{T&Hfa:

g
Answer ﬁguislm STt
) repr— l_
PNANDHNN
(A) (B) (C) (D)

Correct Option : C

Question (24)

Select a suitable figure from the four
alternatives that would complete the given
figure.

- fawedi °§ ¥ 3faa smfa =1 w0 =4, 91 fag
FEta w1 T FHA

0| 0| m

@ | oD |

(| ?
(A) (D (B) (IIIIIID

(C) (I (D) (I



Correct Option : B

Explanation :

1,1=2,1=301 2 3
2,2=2,2=302 4 6
3,3=2,3=303 69

S0, 9 box is the required answer.

Question (25)

Which of the following diagrams indicates
the best relation between Sister, Woman and
Mother ?

71 4 4 FH-91 a2, 3G 99 T+ 59
Hay 3 w87

(€) (D) @ O

Correct Option : C

Explanation :
(C) Woman
Mother
Sister

Some sister may be mother and vice-versa.
Also, some mothers may not be sisters and
vice-versa. But all sisters and mothers belong
to woman group.

Question (26)

Who gave the title of "Mahamana" to Madan Mohan Malviya?
HCA HAIgeT ATAATT Sl “HETHAT T gedr fhder &r ofr?
(A) Dada Bhai Naoroji/gIersirs =ARrsir



(B) Gopal Krishna Gokhale/3NdTel 0T aN&el
(C) Mahatma Gandhi/FgIcHT ey

(D) Bal Gangadhar Tilak/aTeT 3RMER foeleh

Correct Option : C

Question (27)

Antigen is a substance which:

gfdstet U uery § -

(A) Destroys harmful bacteria/

qIfeRe a3t ¥ 7e FRelT &

(B) Is used to treat poisoning/
faSTTFdehoT & 3UIR & foT yaeT glar &
(C) Lowers body temperature/

R & dTHYTST T FHFA HIT &

(D) Stimulates formation of antibody/

gfazalt & AT 1 3dfad aar g

Correct Option : D

Explanation :
Antigen is a foreign molecule, which invade the body of an organism, and induce immune response
to stimulate antibody.

Question (28)

Which committee has been constituted to convert 100% Government — Citizen Transactions to the
digital platform?

g FTATT FT 35T TIHR ARTRE deT-2aT i f3ToTed Tale® T 100 Tfard & seoet & off AfoSd $r
T 82
(A) Piyush Goyal committee/fy afrer afAfa




(B) Arun Jaitely committee/37%0T Sicel @fAfa
(C) Kirti Parekh committee/$ifct arRg afafa

(D) Amitabh Kant committee/31fRdrsT Fid afafa

Correct Option : D

Explanation :

The Government of India (Gol) has constituted a committee of officers to enable 100 % conversion
of Government - Citizen Transactions to the digital platform. The committee, under the leadership of
NITI Aayog CEO Amitabh Kant, will identify and operationalize various digital payment systems
appropriate to different sectors of the economy and coordinate efforts to make them accessible and
user-friendly. The committee will also identify and access infrastructural and bottlenecks affecting
the access and utility of digital payment options.

Question (29)

Which one of the following has the highest fuel value?
=T & O 5 $U &1 STadd AT g7

(A) Hydrogen/grgatatet

(B) Charcoal/@Replel

(C) Natural gas/STshfce 3|

(D) Gasoline/agrer

Correct Option : A

Explanation :

Fuel value can be expressed in terms of calorific value of fuel. The calorific value of a fuel is the
amount of heat produced by burning 1 kg of fuel. Hydrogen has the highest calorific value of
(141,790 KJ/kg) thus have highest fuel value. Calorific value of charcoal, natural gas and gasoline
are (29,600; 43,000; 47,300 kJ/ kg) respectively. Natural gas mainly consists of Methane.

Question (30)

A Mughal Queen whose name was written on all the Mughal Farmans and inscriptedon the coins



was

Teh FHITel FERTAT FSTHehT AT T el GIATAT I form ST 2T 3R FAeFehl U IHAT AT e AT?
(A) Maham Anana/Hg#H eIl

(B) Nurjahan/=IsTer

(C) Mumtaz Mahal/#HdTsT Hgel

(D) Mariam Makani/ART# Hr

Correct Option : B

Question (31)

Regarding the atom of a chemical element, the magnetic quantum number refers to-
e dcd & Ueh URATY] & HeEl 7 eeh1d FaicH HEAT SATT 8-

(A) Orientation/femiader

(B) Shape/3TeX

(C) Size/afkoms

(D) Spin/gleta

Correct Option : A

Explanation :
Magnetic quantum number represents the number of orbital's present in the subshell magnetic
guantum number about the orientation of the orbital.

Question (32)

Two wires have their lengths, diameters and resistivities all in the ratio of 1 : 2. If the resistance of
the thinner wire is 10 ohm, the resistance of the thicker wire is:

ar AT T oaTs, Sard 3R SfaRiteRar #7 3Ed 2:1 §] I T R &7 9feRkier 10 31\ § d A ar &
gfeRYer grem-



(A) 5 ohm/31&  (B) 10 ohm/3i1&

(C) 20 ohm/3T T (D) 40 ohm/371&

Correct Option : B

Question (33)

Which of the following has become the India's first e-assembly constituency?
T 7 & -7 IR T Ugel 5-TAUTATHT 817 &7 AT g2

(A) Dharamshala assembly constituency/&2ITelT AT &

(B) Palampur assembly constituency/Tel#qY fatiieTae  &v

(C) Rinchenpong assembly constituency/Re<idieT fatmeras T a9

(D) Chujachen assembly constituency/gsTe faeeTae &1

Correct Option : B

Explanation :

The Palampur Assembly Constituency has become the India’s first e-assembly constituency at
Kangra district in Himachal Pradesh. Now, the resident of constituency would not only know about
the development works going on by one click on computer but they would also send their
requirement about funds for different schemes in their respective areas online. This system would be
introduced in other 67 constituencies of the state in next 6 months.

Question (34)

What is the theme of 2016 International Day for the Elimination of Violence against Women?
AT o T TEAT & 3eaelet & foIT RIS fead 2016 T faws (Ai]) Fam &2

(A) Orange your neighborhood/3iR=T TR AIES

(B) Orange the world/3i¥sT & a5

(C) Orange the life/31=T & eIrs®



(D) Orange the people/3iR=T & draer

Correct Option : B

Explanation :

The 2016 International Day for the Elimination of Violence against Women is observed every year on
November 25 to raise public awareness of violence against women. The 2016 theme is "Orange the
World - raise funds to end violence against women" in which orange colour designated the UNITE
campaign to symbolize a brighter future without violence.

Question (35)

The book "Banaras City of Light" has been authored by whom?
(A) Vrinda Grover/geT aitak

(B) Diana Eck/3TI=TT $&

(C) Mini Kapoor/f&=iT 9T

(D) Sanjaya Baru/E< S1%

Correct Option : B

Explanation :
The book "Banaras City of Light" has been authored by Diana L. Eck. It is about the spiritual and
historical aspects of the city.

Question (36)

With reference to the evolution of living organisms, which one of the following sequence is correct?
g U & Ifd F G &, T F d tH T FA 82

(A) Octopus-Dolphin-Shark/

HieFeITH-sTelfthet-2mdh

(B) Pangolin-Tortoise-Hawk/

Bushell-hg3r-ars



(C) Salamander-Python-Kangaroo/
(D) Frog-Crab-Prawn/

Correct Option : C

Explanation :

According to evolution of living organisms Salamander-Python-Kangaroo, because the evolution
started from amphibians 350 million years ago, reptiles appeared 300 million years ago and 200
million years ago first small mammals appeared.

Question (37)

Which of the following entities has launched India's first payment bank?
o fed & & fohe HEUT 7 IR T TG T $JITCATeT Sfeh ohT BTN TohaT &2
(A) Reliance Industries/Remag S3&éIeT

(B) Airtel M Commerce Services/TIRed TH 1Ay Fiadsl

(C) Vodafone M-Pesa/alsmhie TH-gaT

(D) FINO PayTech/Th3TTSUA31T U

Correct Option : B

Explanation :

Airtel Payments Bank Limited (or Airtel Bank), a subsidiary of Bharti Airtel Limited has launched
India's first payment bank with 7.25% interest on savings accounts as a pilot basis of its banking
services in Rajasthan.Airtel Bank's services can be accessed by Airtel customers on their mobile
phones through the Airtel Money app, through USSD by dialing *400%#; or via a simple IVR by dialing
400. Both the USSD & IVR options are available in Hindi and English language and work on simple
feature phones as well. The non-Airtel customers can access Airtel Bank's services by dialing
8800688006.

Question (38)

Consider the following:

T W faaR &



1. Carbon dioxide/shTeeT SBTFASS
2. Oxides of nitrogen/aITSeIste 3TFaTSS

3. Oxides of sulphur/Aew 3iTFarss

Which of the above is/are the emissions from coal combustion at thermal power plants?

T faEd FAT 7 BRI oot § Ftoiad 3 & &8 &7 T@el gidT 82
(A) 1 only/ahder 1

(B) 2 and 3 only/aaer 2 31k 3

(C) 1 and 3 only/&hder 1 3Rk 3

(D)1, 2and 3/1,2 3R 3

Correct Option : D

Explanation :

By-products of thermal power plant operation need to be considered in both design and operation.
Waste heat due to the finite efficiency of the power cycle must be released to the atmosphere, using
a cooling tower, or river or lake water as a cooling medium. The gas from combustion of the fossil
fuels is discharged to the air; this contains carbon dioxide and water vapour, as well as other
substances such as nitrogen, nitrogen oxides, sulphur oxides, and (in the case of coal-fired plants)
fly ash, mercury and traces of other metals.

Question (39)

Which one of the following stars is nearest to the Earth?
RorrTToITEe AR 3 & God & T T §-

(A) Polaris/qTeTRE TR

(B) Alpha Centauri/3TehT ﬂ‘gfr

(C) Sun/gd

(D) Sirius/efs¥eh ¥R

Correct Option : C

Explanation :
Sun is the star nearest to the earth. It is 150 million kilometers away from earth. Sun has



temperature of over 15 million °C.

Question (40)

Cryogenic engines have applications in:

PIATSITAh STeT T STAHTS [hdT SATAT & _

(A) Submarine propulsion/deTgsst Fulict &

(B) Frost-free refrigerators/s #Herd ThroRel &

(C) Rocket technology/Riehe StenfarT

(D) Research in superconductivity/3TTdaTelehdr & 3{=ayuT &

Correct Option : C

Explanation :

A cryogenic rocket engine is a rocket engine that uses a cryogenic fuel or oxidiser, that is, its fuel or
oxidizers (or both) are gases liquefied and stored at very low temperatures. Notably, these engines
were one of the main factors of the ultimate success in reaching the Moon by the Saturn V rocket.
Various cryogenic fuel-oxidizer combinations have been tried, but the combination of liquid hydrogen
fuel and the liquid oxygen oxidizer is one of the most widely used.

Question (41)

The waterfall 'Victoria' is associated with the river:
“FaeeiRar Stergdrd forg 78T & Fafad g2

(A) Amazon/3THsTeT AGT

(B) Missouri/faa3 ey

(C) St. Lawrence/dc aied A4

(D) Zambezi/SiFsoil s7GT

Correct Option : D

Explanation :

One of the greatest attractions in Africa and one of the most spectacular waterfalls in the world,
Victoria Falls is located on the Zambezi River, the fourth largest river in Africa, which is also defining
the border between Zambia and Zimbabwe.



Question (42)

Which one of the following is printed on a commonly used fluorescent tube light?
foeT 7 & l-A71 ITHAR TR SEAATS HT AT el AT TS TSl I ST BIeAT 872
(A) 220 K (B) 273 K

(C) 6500 K (D) 9000 K

Correct Option : C

Explanation :

A fluorescent lamp or fluorescent tube is a gas-discharge lamp that uses electricity to excite mercury
vapour. The excited mercury atoms produce shortwave ultraviolet light that then causes a phosphor
to fluoresce, producing visible light. 6500 K is usually printed on a used fluorescent tubelight.

Question (43)

Match the items in List-I with items in List-
I and select the correct answer using the
codes given below.

g1 F1 gE-11 ° gafea *  f7y m gfed &
vafei § 9o T2 F1 FA w0 T8l 39 991 Fi

List- 1/g=i-1 List-I1/g=i-11
a. Adrenaline/ 1. Anger, fear, danger/
ufgAfer FM, ¥, G0
b. Estrogen/ 2. Attracting partners
A through sense of
smell /T &1 915 %
Sig FEwri F1 A
Easi|

c. Insulin/3gfe9 3. Females/®fgen
d Pheromones/ 4. Glucose/Tq&=

Codes/&z2:
ab c d
A) 31 4 2
B) 13 2 4
€13 4 2
D31 2 4
Correct Option : C

Explanation :



Adrenaline is the hormone that prepares the body to deal with anger, fear and danger. Estrogen
hormone is released from ovary of female. Insulin controls the level of glucagon in blood.
Pheromones attract partners through sense of smell.

Question (44)

The tribal population in Andaman and Nicobar islands belongs to the:
(A) Australoid race/3ECaTgs Jaifa &

(B) Caucasoid race/JUdT Joffd &

(C) Mongoloid race/HMaTas 3T &

(D) Negroid race/aaTIs Yot &

Correct Option : A

Explanation :
The tribal population of Andaman and Nicobar belong to Negroid race. A small population of
Shompen and Nicobars are Mongoloid descent.

Question (45)

As income increases the demand for interior goods:
37T e g R foigpse ae3il v AT

(A) increases/sigaft

(B) remains constant/fE2R gl &

(C) fluctuats/31FER /AT &

(D) decreases/ae3fY

Correct Option : D



Question (46)

The term of the Lok Sabha:

NHGHT T IR
(A) Cannot be extended under any circumstances/faT 8ff aIRTATT & ST 8T ST TheT
(B) Can be extended by six months at a time/Ueh TFHAT H Bg Helol o [T TaT SGAT oIl HehdThai

(C) Can be extended by one year at a time during the proclamation of emergency/ 3TdTdeTel GIYUTT
Fr TufT 7 T AT W T AT doh SG1-AT ST HohdlT &

(D) Can be extended for two years at a time during the proclamation of emergency/ 3TdTcIhIel GIYUTT
1 FEAfa # U TAT IR af ATel ek TEIAT ST Tehell &

Correct Option : C

Explanation :
The term of the LS can be extended by not more than one year at a time during the proclamation of
national emergency under Article 352.

Question (47)

When Cripps Mission came to India, who among the following was Viceroy of India?
ST fored TARIET HRA 31T At AF=fof@d # & it $RT ST araara ar?

(A) Lord Irwin/aiTs gfasT

(B) Lord Linlithgo/dits foiferamam

(C) Lord Wavell/d's daer

(D) Lord Willingdon/dIts fafeiarss

Correct Option : B



Question (48)

In the case of election to the Lok Sabha, the amount of Security deposited for general category
candidates and SC/ST category candidates respectively is:

ClTehE$1T o TeTd T T F T 991 AR 3eggferd Sfa/3eggiad Sefsiic @97 & SFeeant & fow
el TohdelT STHTT TR STAT T SATCT 82

(A) Rs.5,000 and/3iR & 2,500
(B) Rs.10,000 and/31R % 2,500
(C) Rs.10,000 and/3iR ¥ 5,000

(D) Rs.15,000 and/31R & 7,500

Correct Option : C

Question (49)

Which Bollywood actor has won the "Best Performance by an Actor" award at the 2016 Asia Pacific
Screen Awards?

forer sfeltgs 31f3aeT & 2016 TFRIAT TRl EheT 3rarsH # “Teh HTRAAT & GaRT GaASS 3fHTT”
QRERR SHT &2

(A) Manoj Bajpayee/HaiIsT STeTay

(B) Johnny Lever/sii=iY effax

(C) Danny Denzongpa/3t 8Taiteraur

(D) Nawazuddin Siddiqui/=aTsiegliel Fegiehr

Correct Option : A

Explanation :

The Bollywood actor Manoj Bajpayee has won the "Best Performance by an Actor" at the 10th
edition of Asia Pacific Screen Awards (APSA) for his performance as Professor Siras in "Aligarh”
directed by Hansal Mehta. The 10th APSA is recognizing and promoting cinematic excellence and
cultural diversity of the world's fastest growing film region.



Question (50)

Which one among the following is the top processor of the computer in the world?
AT # & et gfeiar & Shege o v e 7 & Teh g2

(A) Intel/3cer

(B) Optron/37icgieT

(C) Consly/ai=gelr

(D) None of these/3s13] & HIS oTal

Correct Option : A

Question (51)

Given x =y + 37437 x 37439. Find the value of y for which the square root of number x is possible.
X =y + 37437 x 37439 AT 3T §| y T AT AT Y, [THA AT x T FNHA [Aehmelal TG gl

A1 (B)2

€3 (D4

Correct Option : A
Explanation :

(A) x= ,Jy+373437 37439

x= o Jy+(37438-1)(3T438+])

x=Jy+37438° -1°
For y= 1, the value of x is possible to find.

As,x= 17 + 374387 —1? = /37438* =37438



Question (52)

HQ‘-2?=8and9'-3!"='81,thenthevalueof
X+ yPp-2xy+ 1.
afg 2%. 2v=8 991 9*-3¥ =81 &, 1 ¥ + - 2xy

+1 &1 9F &-
A) 1 B 2
C) 3 D) 0

Correct Option : B

Explanation :

(B]2*02¥=8 O02°¥=80x+y=3
00 3¥=8]1 03> v=81032x+y=4
So(x.y=1(1,23)
So, ¥+ -2ay+1=1"+22_2x1x2+1
=6-4=2

Question (53)

A student can solve more than 50, but less than 90 tricky questions in an hour. The number of
guestions is 3 more than a multiple of 5. It is also 2 more than amultiple of 6. How many question is
he solving in an hour.

T fauredf ves g¢ 7 50 T SITET UG 90 F s ShideT T2l T gof Teldhel Hehcl gURHAT hT TEAT 5
UTAhe A 3 3TeH §|TE 6 hl UTAEs & &Y 2 3110k | a8 Ueh € & fohcTal 9=l Y gl I TETE 2
(A)58  (B)88

(C)68 (D) 54

Correct Option : C
Explanation :

(C) [ 2 more than
multiple of 5

2 more than

53|58 |63 6B |73 |TE (B3 |88

56 |62 (68 |74 |80 |86

multiple of &

0 Required no. of questions = 68



Question (54)

Find the area of shaded region, if radius of
a circle is 2 cm.

FANTFA 49 F1 GA5a T4 HL) A5 ga F a2
=, 7

(A) 23 - 7 cm?/EH
2 xin
(B) “‘E— Ecmz/'{?‘iﬂ2

(C) 443 - 27 cm?/HHF

4 -
(D) ﬁ” cm?/ qH?

Correct Option : C
Explanation :

(C)

Draw an equilateral triangle after connecting
the centers

3
Area = Taz where a is side of triangle

3

=— 04 =2r=4
- la=2r = 4]
= 4.3 em?

As, the 3 sectors of a triangle will form a
semi-circle and its area = e i = E‘ﬂ x 22
=1z

O Required area of shaded region

= (443 ~2¢% o




Question (55)

In a equation 3x + 5y = 93. How many different value of x is possible, if x and y are some natural
numbers.

HHIHT 3x + 5y = 93 Fx & fohelol AT HaTa 8, TS x TUT y IS Wrhfcieh H&T §1?
(A)5 (B)6
©7 (D8

Correct Option : B

Explanation :
(x,y) ={(1, 18) (6, 15) (11, 12) (16, 3) (21, 6) (26, 3)}

The number of possible value of x =6.-.

Question (56)

Rs.100 is doubled in 5 years, when compounded annually. How many more years will it take now to
get Rs.200 more as compound interest.

Tk Tshe e sTTel & ©.100 Y5 ATel H G &1 STTell 81%.200 HX Tshefe saTsl gl o fow 319
fopcet a¥ 3R oaEr?

(A) 5 yrs/ay

(B) 7.5 yrs/a¥
(C) 8 yrs/a¥
(D) 10 yrs/ay

Correct Option : A

Explanation :
Rs.100 invested in Cl becomes 200 in 5 yr Amount gets doubled again in 5 yr

It means new amount = Rs.400 in another 5 yr So, we can say that in another 5 yr 200 interest will
be earned

Question (57)



cosA cosB _ cosC
b c
what can be said about the given triangle?

In AABC, , then

. CosA cosB 0B ..o-oo
afs AABC ¥ = = =,
a b c

fau m fagw & fawa § #0 F@1 1 wEW@ 22
(A) Right angled triangle / TH&Mm fasqa
(B) Isosceles triangle/ ¥afgar fags

(C) Equilateral triangle/ #9aE faqs

(D) Can't be determind/ Wl & @M T&d

Correct Option : C

Explanation :
(C) By sine rule of %=3

a b C

snA _ snB_ anC &

Oa=KsnA b=KsnB, C=KsinC

ros A cosB cosC

% KsinA KsinB  KsinC
OcotA=cot B=cotC
OA=B=C

So, It is equilateral =.

Question (58)

20% of the men are more than 25 years old and 80% of the men are less than or equal to 50 years
old. 20% of all men play football. If 20% of the men above the age of 50 play football, what
percentage of the football

20% STTFd 25 a9 ¥ TS 37 & § dUT 80% TTed 50 & FHHA AT 38 sI6< 3H & |G Aferadr &7 4
20% safFd Peare Weld g] ITE 50 50 I 37 37 % 209 SATF Feaiel Werd g, af fehctet Tfererdt
Pedlel TEelST 50 & & AT 3Heh SR 3H & g2

(A)15%  (B) 20%

(C)80% (D) 70%

Correct Option : C
Explanation :



(C) 20% of the men are above the age of 50
yvears. 20% of these men play football.

It means, 20% of 20% of 4% of the total men
are football players above the age of 50 years.
20% of the men are football players.
Therefore, 16% of the men are football
players below the age of 50 years.
Therefore, the % of men who are foothall
players and below the age of 50

16 100 = 80%
=— X =
20 .

Question (59)

If the price of petrol increases by 25% and Simran intends to spend only an additional 15% on petrol,
by how much % will she have to reduce the quantity of petrol purchased?

& YETeT ST HIHAT 20% §Te; STl § AT AT 379eT @l H Shalol 15%%hT Ty el I gTHeh g,al 34
USreT o @l H fehctel % T T HLeit graf?

(A) 10% (B) 12%
(C)8% (D) 12.5%

Correct Option : C
Explanation :
(C) Required percentage
1154 235
0 ﬂ’j 4]

= §1 1258 * 100 g1~ 555 * 100

2
55 = 100 = 8%

Question (60)

A merchant mixes three varieties of rice costing ~ Rs.20/kg, "'Rs. 24/kg and ~ Rs.30/kg and sells the
mixture at a profit of 20% at the rate of *~ Rs.30/ kg. How many kgs of the second variety will be in the
mixture, if 2 kgs of the third variety is there in the mixture?

Teh TGN %.20 S foharr., .24 9y foarm, a2 .30 Gfcr foharm. sk =maret 1 f&em &ar & a2m 38 20% &
FHATH WX ©.30 Gfct foha. &1 X & o T §[fe; &er §U drarer # R YR T 2 feha. =irared gY,alt fAvsoT



# g8 YehR o fehclal fA40T 82
(A) 1 kg/feha.
(B) 5 kg/fha.
(C) 3 kg/frar.
(D) 6 kg/fharT.

Correct Option : B

Explanation :
(B) 5P = 30 profit = 20% then CP of mixture
30

"2

=

o QA  30-25 5
By Alligation rule, oc -

25-90 5

QB 30-25 5
Also, =5 = = —

QC  25-24 1
OQA:QB:QC=1:5:(1+1)=1:5:2
O Required weight of the rice = 5 kg

Question (61)

In a 1 kilometre race, A gives B a start of 100 m or 15 seconds. How long does A take to complete
the race?

Teh fohalT. & fohdll I & A,B Y 100 #T. 3T 15 AehUS T IR T &l 8|A T I WA it & fehctelr
THI SN2

(A) 150 sec/ahUs
(B) 165 sec/AHUS
(C) 135 sec/A&hUs
(D) 180 sec/qHhUs

Correct Option : C
Explanation :



In a 1000 metre race A gives B a start of 100 m or 15 seconds.
B takes 15 seconds to run 100 m.

B will take 150 seconds to run the stretch of 1000 metres.

As, 1000 m = 10 times 100 m

The time taken will also be 10 times 15 seconds = 150 seconds.

As, A gives B a start of 15 seconds, which means A obviously takes 15 seconds less than B to
complete the race.

Hence, A will take 135 seconds to run the 1000 m.

Question (62)

In the diagram given below, CD = BF = 10
units and ZCED = ZBAF = 30°. What would
be the area of triangle AED?

fau m f7= sgfa § CD = BF = 10 3#% @
ZCED = /BAF = 30° %1 faye AED 1 &%t 71

Bm?
B;
F

C
E D

(A) 100 x (V2 +3) units/z#

100
(B) (J§+3) units /35

50
(C) (Jg+4) units /3%

(D) 50 x (V3+4) units/3®E

Correct Option : D
Explanation :



(D) A

AN

C
0 D

Given CD = BF = 10 unit
OCED = OBAF = 30°

In %CDE,
300 = 2 4 1 c¢p
an=y" " ED - J3 T ED
OED=+3CD =103

In XABF

tan 30° = o& g —— - BF
an AB 43 AB

O0AB= 3BF= 1043

Also, OBFC = OCED = 30°

So, In XBFC
tan30° = 2€ g = = BC€ qpc- 2
an BF ~ +3 BF 3

10
ﬁD=hE+BC+CD=10ﬁ+E+m

® 1 & 23 +1+430
=10 V3 +—=+1=10 —F=—-
§ N E 3 o
e 3d
_®y3e
§ 2 0

1
0 Area of xAFD = E = A= ED

= +./30
* 10— 5= 1043 = 50(4 + 43)

1
2

Question (63)

Two boys begin together to write out a booklet containing 535 lines. The first boy starts with the first
line, writing at the rate of 100 lines an hour and the second starts writing with the last line, then
writes line 534 and then proceeds so on, backward proceeding at the rate of 50 lines an hour. At
what line will they meet?

&l o0 @Y H 535 GfFadt I T fohdra foraer IRt 3 g|9gar s<ar ,9gel 9fdd & 100 gferd ufa a¢



T &Y A ToreeT WIReT ahdd & T g st e dfrd & foratr 9t e 8, afdrd 534 foraar g
Tg 38 YR ¥ 50 Ufdd 9fa geahT a7 & NI &7 30T SoaT ¢ |forg diga 3 aig gt fAciar

(A) 356 (B) 277

(C) 357 (D) 267

Correct Option : C

Explanation :

[C) Writing ratio = 100 : 50=2:1

As equal quantities are taken, in a given
time, first boy will be writing the line number

2
= E ®x 535 = 356% or the 357th line

Hence, both of them shall meet on 357th ine.

Question (64)

If (x+ 2)2=9 and (y + 3)* = 25, then the

X

maximum value of ‘; is:

X
g (x+2)2=9 T4 (y+ 32 =25, @ 7 @
Ffimay 9= F1 872

(A) (B)

(ST R&)

oln | =

(C)

o)

(D)

Correct Option : C
Explanation :



[C)[x+2)2=9
Ox+2=2%23
Ox=1or-5
and [y + 3)*= 25
Oy+3==x=5
Oy=2or-8
X -5

Theref imu alue of 7 = —
ereiore, maximium vV Eﬂ-y —E

Question (65)

There were P people in a room, when a
meeting started. Q people left the room
during the first hour and R people entered
the room during the next hour. The number
of people present currently in the room is
what percent of the number of people
present during the first hour after some
people left.

4 93% URY g1, 9 L d P @ 91 Q @i oy
v § FH F BEH 96 T a4 R T AT qU2
o F9t § fEd g 999 § Hieg SAfadl #1 9@
FR Y YU A2 F FP @ B IH F A AR

wfFadl #1 gEm w1 fHaw wava 22
(P+Q) (P-Q+R)
W p-qrr B 100X TE o
(P-Q) (P+R)

(€) 100x gy (D) 100 (55

Correct Option : B
Explanation :



. (B) The meeting started with P people. Q) left
the room during the first hour.
So, (P-Q) people have been in the room during
first hour since the meeting started.
Another R joined the group in the next hour.
So, the number of people in the room
currently=P-Q + K.

P-Q+R

Required expression = W x 100

Question (66)

Ram completes 60% of a work in 15 days and then takes help of Rahim and Russel. Rahim is 50%
as efficient as Ram and Russel is 50% as efficient as Rahim. In how many more days will they
complete the work?

Tl & T 60% T 15 et 7 QX1 dcll § el Tohe T8 7T T8l & Heg, ol § [TEH, TH & 50%
ST & U T, TEH A 50% FHrel et 3R it 7 R bt @I T 912

(A)40/7 (B)48/7
(C) 46/ 9 (D) None/as gl

Correct Option : A

Explanation :

(A) Fam completes 60% of the task in 15 days.
He completes 4% of the task in a day.
Rahim is 50% as efficient as Ram 1s.
Therefore, Rahim will complete 2% of the
task in a day.

Russel i1s 50% as efficient as Rahim.

O Russel will complete 1% of the task in a
day.

Together, Ram, Rahim and Russel will
complete (4 + 2 + 1) = 7% of the work in a day.
They have another 40% of the task to be
completed.

40
Therefore, they will take - more days to

complete the task.



Question (67)

'a' and 'b' are the lengths of the base and height of a right angled triangle with hypotenuse as 'h'. If
the values of 'a' and 'b' are positive integers, then which of the following cannot be a value of the
square of its hypotenuse?

a 2T b e TR0 F37eT & MR FAT FTS I IS ) TR a TUT b 7 AT Teh etlcAs o7 &Y
o & & HleT 5UF FHUT o T HT AT AT &1 ThcT?

(A)13  (B) 23
(C)37 (D)41

Correct Option : B

Explanation :
(B] The value of the square of the hypotenuse
=h?=a?+ Db’
Here 23 cannot be expressed as the sum two
numbers.
Rest (13=2%+3%,(37=1"+6% and (41 =4* +
59 can be written as the sum of the squares
of positive integer.
O Choice 2 is the answer.

Question (68)

The marks scored by a student in three subjects are in the ratio of 4 : 5 : 6. The candidate scored
60% of the aggregate of maximum marks in three subjects which is equal to marks scored by the
candidate in the three subjects. In how many subjects did he score more than or equal to 60%7?

fenaly et g3 foieT fawrat o Teetien a1 31eTuTeT 4:5:6 8| faemedt & it fawat & 3iferehcrst 3ieh %1 60%
37 gTed R Y T it AWt 3 ured fohT 7T 37ehT o I1T 3 AT g fohdey AWt & 3T+ 60% &
3778 AT 3Tk sRT&Y 37 9o fhu?

A1l (B)2
€3 OO



Correct Option : B

Explanation :
Let the maximum marks in each of the three subjects be 100.

Aggregate score of the candidate = 60% of 3 x 100 = 60% of 300 marks = 180 marks. ..
Let the marks scored in the three subjects be 4x, 5x and 6x.

Then, 4x + 5x + 6x = 180

15x =180 or x = 12.

Marks scored by the candidate in the three subjects are 4 x 12,5 x 12 and 6 x 12 = 48, 60 and
72...

Hence, the candidate has scored more than or equal to 60% in two subjects.

Question (69)

If the length of the sides of a triangle is 72 cm, 75 cm and 21 cm, then what will be the length of its
in-radius?

ITE ToreT T387eT o 37T T ofaTS 72 QY. 75 QY. T 21 QAT 81,cT Heh 3T THeam &t ofelrs
ghafr?

(A) 37.5 cm/34T,

(B) 24 cm/ET.

(C) 9 cm/J&Y.

(D) 15 cm/J=.

Correct Option : C
Explanation :
(C) For a right angled triangle,
The length of in-radius

(Product of perpendicular sides)
- {Perimeter of triangle)

=27 21) 1512
= [72+21+75) = 1gg _2cm



Question (70)

Algebra test was taken in three math classes: X, Y, and Z.

The average score in class X was 83.

The average score in class Y was 76.

The average score in class Z was 85.

The average score of all students in classes X and Y together was 79.
The average score of all students in classes Y and Z together was 81.

What was the average score for all the three classes

IITOTC I fo¥ef T X, Y, TUT Z & SiSTIfore ohr oRver for arm|
eI X T 3T 37 83 |

HET Y T 3Had 37k 76 1|

T Z 1 3 31 85 2|

HETT X TAT Y & T fauredf &1 3iraa 3/ 79 |

HET Y aUT Z & it faemdt &r 3ikea 31 81 |

AT HETTHT o1 3T 37 FaT AT?

(A)81 (B)815

(C)82 (D)84.5

Correct Option : B

Explanation :

(B) x y Yy z
83 76 76 85
xm.f \‘51 ~
PN A
3 4 4 ]

Ox:y:=z=3:4:5
Average score for all the three classes x, y
3" 83+4° 76+5° B5
3+4+5

and z=

249+ 304 +425 978
N 12 To12

=81.5



Question (71)

Yana and Gupta leave from points x and y towards y and x respectively simultaneously and travel in
the same route. After meeting each other on the way, Yana takes 4 hours to reach her destination,
while Gupta takes 9 hours to reach his destination. If the speed of Yana is 48 km/hr, then what is the
speed of Gupta?

ITAT AT IOl TG X TUTy & ShARM:y TUT x o TIT Teh ATY {Ahold § TUT Ueh &1 AT & M1 I § | &
H Th guY ¥ A & TR ATAT AT ITcTed AT R Igd=l H 4 T A § Seifeh I el ITcied
TYT IR TGS H 9 G AN & | AT ATAT B =Ter 48THTH./eTeT &, Iyeetm b =red fovarm &2

(A) 72 km/hr/faT [eaeT

(B) 30 km/hr/faiT./erer
(C) 20 mile/hrfRaT./EeT

(D) 32 mile/hr/fatT.feeT

Correct Option : C

Explanation :

(C) Let the time taken by them from the
moment they started be x hrs and y hrs
respectively.

So, Yana would take (x + 4] hrs

as Gupta would take (x + 9) hrs

By time Yana and Gupta meet, Yana would
have traveled 48x kms in 9 hr.

48x
0 Gupta's speed = o
Yana' d : Gupta’ a=1:2"%
ana's speed : Gupta's spee ‘779
48x x+4 x x+4
048 : — ::1: o—=
O x+9 9 x+9
Ox*+9x=9x+ 360 x=06 hrs
48x 48° b6
DSPEEdeGLIPta=?= 9 =32km/fhr

= 20 mile/hr



Question (72)

If both 112 and 3? are factors of the number a x 43 x 62 x 13, then what is the smallest possible
value of a?

g 112 AT 3° Qlal, TEAT @ x 4° x 62 x 131 T IOUIAEUS g, AT @ T #eAcTH HITd HIeT FT 82
(A) 121 (B) 3267
(C) 363 (D) 33

Correct Option : C

Explanation :

(C) 11° iz a factor of the given number.

In the given expression, a = 4 = §% = 134
none of the other factors, viz., 4, 6 or 13 is
either a power or multiple of 11.

Hence, if a x 4* x §% = 13" is divisible by 112,
'a' should necessarily include 112

The question states that 3* is a factor of the
given number. 6% is a part of the number.
6" can be expressed as 3° x 2%

ie,a=4 = 6= 13" has 3% in it.

It needs a 3% in it for the number to be
divisible by 3°.

Therefore, a will have to provide one more 3
toax 4% xg? x 131,

0 'a' should be at least 112 = 3 = 363, if the
given number has to have 11* and 37 as its
factors

Question (73)

If ABC is a right angle triangle with ZA =
90° and 2s=a +b + c, wherea > b > ¢, then
which one of the following is correct?

7% ABC T% 95= g € famd £A =90° & aan
2s=a+b+c® W a>b>cE AfEda=n
T 77

(A) (s—b)(s—c)>s(s—a)

(B) (s-a)(s-c)>s(s—b)

(C) (s-a)(s—b) <s(s—c

(D) 4s(s—a)(s—Db)(s—c) =bc

Correct Option : C
Explanation :



[Clleta=5b=4&c=23
- It is a right angle triangle and (3, 4, 5) isa
Pythagorean triplet.

jatb+c) 12

Substitute these values and check which
condition satisfies.

Let us take choice(3)
LHS[s—a)(s—b)=(6-5)6-4) =2.
R.H.Sg(s—¢c)=6[6-3) = 18,

LH.S<RH.S

It satisfies the given condition hence
Choice(3) is the right answer.

Question (74)

Directions (74-75) : The following bar graph
depicts the result of B.Sc. students of a college
for three years. Read the graph and answer the
questions based on this graph.
frdwr (74-75) : Trfafaa aw ww s wiew & oot
% 3 aul & SR d, & o @ geiar €1 mE
g 79T 39 WE & MW 9T WAl & I A

200 — [7] First Division/
180 + waq Aot
160 + Second Division/
120 4+ . %:dai)r:vmon/
100 = B rFailed/ s

80 +

60 +

40 + =

20 A

2014 2015 2016

The aggregate pass percentage during the
three years was-

= W % IRA FE T gawE a@-

a) 8234 o, B) 82>,
113 113

©) 80200 D) 77-229%
113 113

Correct Option : C



Explanation : _
(C) Total passed students,
=140+ 150 + 165 =455
Total students
=170 + 195 + 200 = 565
». Required percentage

= =g * 100
_ 9100 _ ., 60,
113 113

Question (75)

Directions (74-75) : The following bar graph
depicts the result of B.Sc. students of a college
for three years. Read the graph and answer the
questions based on this graph.

frdwr (74-75) : Trfafas aw ww v wew & ot
@ 3 9l & WLURE. & Uit wr qvnar {1 W @
UZ 99T 39 WF & EW 9T Uyl & IA 3|

200 == D First Division/
180 4 = waq At
160 - o Second pivision/
140 ~ 5
120 4 B third Division/
A A
100+ B8 Failed/ s
80 -
60 S =
40 - = S
20

2014 2015 2016

The percentage of students passed in 1lst
division in 2014 was-

2014 ¥ 999 99 ¥ 99 FE 96 SE &1 gavd
q’-

(A) 20% (B) 34%
© 1429% D) 11330,
7 17

Correct Option : D
Explanation :



(D) Required percentage

20

= 170 * 100
200 13

=2 12
17 17

Question (76)

Direction : In Question nos. 76 to 78 some part of the sentences have errors and some are
correct. Find out which part of a sentence has an error and b lacken the ova | [ ]
corresponding to the appropriate letter (A), (B), (C). If a sentence is free from error, blacken
the oval corresponding to (D) in the Answer Sheet.

It is important to (A)/ take pride of (B)/ whatever we do on life. (C)/ No error (D)

Correct Option : B

Question (77)

The (A)/ desert (B)/ was delicious (C)/. No error (D)

Correct Option : B

Question (78)

They used strong (A)/ ropes to went (B)/ down the cliff. (C)/ No error (D)

Correct Option : B



Question (79)

Directions : In Question nos. 79 to 81, sentences given with blanks to be filled in with an
appropriate word(s). Four alternatives are suggested for each question. Choose the correct
alternative out of the four and indicate it by blackening the appropriate oval [ ] in the Answer
Sheet.

The employees work hard not because of the , but because of their inner urge.
(A) Energy  (B) Drive

(C) Incentive (D) Desire

Correct Option : C

Question (80)

Itis for us to abide by the laws of the land.
(A) Obligatory (B) Optional
(C) Expected (D) Meant

Correct Option : A

Question (81)

The judge used his in settling the matter of his court.
(A) Brains (B) Know
(C) Bias (D) Discretion

Correct Option : D

Question (82)

Directions : In question nos. 82 to 83, out of the four alternatives, choose the one which best
expresses the meaning of the given word.



OCCULT
(A) Latent (B) Fathomable
(C) Intelligible (D) Transparent

Correct Option : A

Question (83)

QUELL
(A) Exacerbate (B) Agitate
(C) Subdue (D) Foment

Correct Option : C

Question (84)

Directions : In question nos. 84 to 85, choose the word opposite in meaning to the given
word.

FEEBLE
(A) Unbreakable (B) Strong
(C) Intense (D) Preserved

Correct Option : B

Question (85)

FRAIL
(A) Massive (B) Rich
(C) Civilised (D) Robust



Correct Option : D

Question (86)

Directions : In question nos. 86, four words are given in each question, out of which only one
word is spelt correctly/wrongly out of them. Find the word spelt correct/wrong and mark your
answer in the Answer Sheet.

(A) Playrite (B) Playright
(C) Playwright (D) Playwrite

Correct Option : C

Question (87)

Direction : In Question nos. 87 to 89, four alternative are given for the Idiom/Phrase in bold in
below sentences . Choose the alternative which best expresses the meaning of the
Idiom/Phrase and mark it in the Answer Sheet.

During the exam, the students use to read the complete book out and out.
(A) no more

(B) in favour of

(C) deadly against

(D) thoroughly

Correct Option : D

Question (88)

The culprits could be easily arrested because the police were tipped off in a advance.
(A) Toppled over

(B) Given advance information



(C) Bribed
(D) Threatened

Correct Option : B

Question (89)

In the organised society of today no individual or nation can plough a lonely furrow.
(A) do without the help of others

(B) survive in isolation

(C) remain unaffected

(D) remain non-aligned

Correct Option : A

Question (90)

Direction: In Question nos. 90 to 92, a sentence/ a part of the sentence is italicised in
underlined. Below are given alternatives to the italicised part at (A), (B), (C) which may
improve the sentence. Choose the correct alternative. In case no improvement is needed your
answer is (D). Mark your answer in the Answer Sheet.

Her speech was optimistic, but at the end of it, she stroke a note of caution.
(A) striked a note of caution
(B) stroke a note of caution
(C) struck a note of caution

(D) No improvement

Correct Option : C

Question (91)



In our country women have opportunities to rise to top in every walk of life.
(A) have had opportunities

(B) have been having opportunities

(C) have opportunities to rise

(D) No improvement

Correct Option : D

Question (92)

India's outlook on the world is composing of these various elements
(A) is composed of

(B) is composed by

(C) is composed with

(D) No improvement

Correct Option : A

Question (93)

Direction : In Question nos. 93 to 95, in the following question, out of the four alternatives,
choose the one which can be substituted for the given sentence.

In a state of tension or anxiety or suspense
(A) On tenterhooks

(B) Depressed

(C) Diffused

(D) Off balance

Correct Option : A



Question (94)

Habitually silent or talking little
(A) Unequivocal (B) Synoptic
(C) Taciturn (D) Servile

Correct Option : C

Question (95)

Expressing oneself clearly or effectively
(A) Professional (B) Dilettante
(C) Articulate (D) Amateur

Correct Option : C

Question (96)

Direction (Q. No- 96 - 100) : In these question you have two brief passages with six questions
following the passage. Read the passage carefully and choose the best answer to each
question out of the four alternatives.

Passage -1

Just as some men like to play football or cricket, similarly some men like to climb mountains. This is
often very difficult to do, for mountains are not just big hills. Paths are usually very steep. Some
mountain sides are straight up and down, so it may take many hours to climb as little as one
hundred feet. There is always the danger that you may fall off and be killed or injured. Men talk
about conquering a mountain. It is a wonderful feeling to reach the top of a mountain after climbing
for hours and may be, even days. You look down and see the whole country below you. You feel
god-like. Two Italian prisoners of war escaped from a prison camp in Kenya during the war. They did
not try to get back to their own country, for they knew that was impossible. Instead, they climbed to
the top of Mount Kenya, and then they came down again and gave themselves up. They had wanted
to get that feeling of freedom that one has, after climbing a difficult mountain.

Some men like to climb mountains because

(A) they do not like to play football or cricket



(B) they want to have a wonderful feeling
(C) they know the trick of climbing
(D) they like to face danger

Correct Option : C

Question (97)

Just as some men like to play football or cricket, similarly some men like to climb mountains. This is
often very difficult to do, for mountains are not just big hills. Paths are usually very steep. Some
mountain sides are straight up and down, so it may take many hours to climb as little as one
hundred feet. There is always the danger that you may fall off and be killed or injured. Men talk
about conquering a mountain. It is a wonderful feeling to reach the top of a mountain after climbing
for hours and may be, even days. You look down and see the whole country below you. You feel
god-like. Two Italian prisoners of war escaped from a prison camp in Kenya during the war. They did
not try to get back to their own country, for they knew that was impossible. Instead, they climbed to
the top of Mount Kenya, and then they came down again and gave themselves up. They had wanted
to get that feeling of freedom that one has, after climbing a difficult mountain.

To climb mountains is often difficult because

(A) mountains are big hills

(B) it consumes more time

(C) prisoners often escape from camps and settle there

(D) paths are steep and uneven

Correct Option : D

Question (98)

Just as some men like to play football or cricket, similarly some men like to climb mountains. This is
often very difficult to do, for mountains are not just big hills. Paths are usually very steep. Some
mountain sides are straight up and down, so it may take many hours to climb as little as one
hundred feet. There is always the danger that you may fall off and be killed or injured. Men talk
about conquering a mountain. It is a wonderful feeling to reach the top of a mountain after climbing
for hours and may be, even days. You look down and see the whole country below you. You feel
god-like. Two Italian prisoners of war escaped from a prison camp in Kenya during the war. They did
not try to get back to their own country, for they knew that was impossible. Instead, they climbed to
the top of Mount Kenya, and then they came down again and gave themselves up. They had wanted



to get that feeling of freedom that one has, after climbing a difficult mountain.

What does 'It' refers to in "It is a wonderful feeling” used in the passage?
(A) the steep path

(B) the mountain

(C) the prisoner

(D) mountaineering

Correct Option : B

Question (99)

Just as some men like to play football or cricket, similarly some men like to climb mountains. This is
often very difficult to do, for mountains are not just big hills. Paths are usually very steep. Some
mountain sides are straight up and down, so it may take many hours to climb as little as one
hundred feet. There is always the danger that you may fall off and be killed or injured. Men talk
about conquering a mountain. It is a wonderful feeling to reach the top of a mountain after climbing
for hours and may be, even days. You look down and see the whole country below you. You feel
god-like. Two lItalian prisoners of war escaped from a prison camp in Kenya during the war. They did
not try to get back to their own country, for they knew that was impossible. Instead, they climbed to
the top of Mount Kenya, and then they came down again and gave themselves up. They had wanted
to get that feeling of freedom that one has, after climbing a difficult mountain.

Two Italian prisoners escaped from the camp and climbed on the top of Mount Kenya
(A) to get the feeling of freedom

(B) to escape to Italy

(C) to gain face as mountaineers

(D) none of the above

Correct Option : A

Question (100)

Just as some men like to play football or cricket, similarly some men like to climb mountains. This is
often very difficult to do, for mountains are not just big hills. Paths are usually very steep. Some
mountain sides are straight up and down, so it may take many hours to climb as little as one
hundred feet. There is always the danger that you may fall off and be killed or injured. Men talk



about conquering a mountain. It is a wonderful feeling to reach the top of a mountain after climbing
for hours and may be, even days. You look down and see the whole country below you. You feel
god-like. Two Italian prisoners of war escaped from a prison camp in Kenya during the war. They did
not try to get back to their own country, for they knew that was impossible. Instead, they climbed to
the top of Mount Kenya, and then they came down again and gave themselves up. They had wanted
to get that feeling of freedom that one has, after climbing a difficult mountain.

Mountaineering is not a very popular sport like football or cricket because
(A) it may take many hours or days

(B) there are no spectators in this sport

(C) people do not want to enjoy a god-like feeling

(D) none of the above

Correct Option : A

Question (101)

Directions (1 —4) : In each of the following questions, select the related letter/word/ number
from the given alternatives.

f&er(1-4): oot vds et 7 Rw o Ravredl #§ & wrafeua snw/rsg/aear # gEv|
CE:44::HF:?
(A)84  (B)76
(C)95  (D)58

Correct Option : C

Explanation :
(C) C E H F
pasition | positian |
3 o o G
vl e
4 4 9 5

Question (102)



Ramcharitmanas : Tulsidas : : Mahabharat : ?
AT RAATAH T FE TR ?

(A) Surdas/gIer (B) Kabirdas/®dRerT
(C) Ganesh/aToTer (D) Vedvyas/deeard

Correct Option : D

Explanation :
Ramcharitmanas was written by Tulsidas and Mahabharat was written by Vedvyas.

Question (103)

52:200::43:7
(A) 148 (B) 432
(C)184 (D) 392

Correct Option : B

Explanation :
(B) 52 0 5% % 2* =25 x & = 200
43 042 = 33=16 = 27 = 432

Question (104)

RPQM : UMOP : : STAR : ?
(A) UYQV  (B) VQYU
C)UVYR (D) RVUY

Correct Option : B
Explanation :



(B) As, RPQM UMO P
I +3 *f“l‘T

3

-z

+3

Similarly, S TAR V%YU

| ETH

+3

Question (105)

Directions (5 — 8) : Find the odd word/letters/ number pair/number from the g iven alternative
faw are fsreat 3 & forwer srarv/eree aean 3o/ wear 1 giav|

(A) 1728 (B) 2197

(C)4913 (D)576

Correct Option : D

Explanation :
Except (D), others are perfect cube.

Question (106)

(A) Tortoise/®B3M  (B) Crab/dhensT

(C) Frog/#es (D) Fish/ASelr

Correct Option : D

Explanation :
Except fish, other lives on both land and water.

Question (107)

(A) 81,83  (B) 100, 121



(C) 144,169 (D) 25, 36

Correct Option : A

Explanation :
Except (A), In others the two given numbers are squares of consecutive natural number.

Question (108)

(A) PSQ  (B) MPN
(C)ILH (D) VYW

Correct Option : C

Explanation :
First letter moves 3 step forward and second letter moves 2 step backward.

Question (109)

If RED is coded as 6720, then how GREEN would be coded?
Ife RED &1 &%¢ 6720 &, df GREEN T &e &1 glam

(A) 9207716 (B) 1677199
(C) 1677209 (D) 16717209

Correct Option : C
Explanation :

Question (110)

Sheena is taller than Meena.Reena is taller than Chitra, but shorter than Beena. Meena is shorter
than Chitra. Chitra is taller than Sheena.Who is the shortest?



ST, #ewr & i & | I o & oidlt &, foreg e & o1y § [+ o & ol 8] o, e & Sl g
Y BIET el § ?

(A) Sheena/ellslT  (B) Meena/HAT

(C) ReenaiiT (D) Beena/sieAT

Correct Option : B

Question (111)

Arrange the words given below in a meaningful sequence.
3T erea Y Uk AT shel H cgafeyd H

1. Flesh/ATa 2. Hair/dTer

3. Skin/cg=T 4. Marrow/37T8I-AsaTT

5. Bone/gsar
(A)1,3,4,52 (B)3,24,5,1
(C)2,3,5,4,1 (D)2 3,1,5,4

Correct Option : D

Question (112)

Radha travelled 17 km to the east. She turned left and went 15 km. She again turned left and went
17 km. How far is she from the starting point?

T G T 3 17 TR, ShT =T el B8 STU ST 7T 15 fohadl. arflela Ry g STe #7st aar 17 fane.,
Il YR foig & fehcteil g 82

(A) 17 km/fRaT.  (B) 2 km/fRaT,
(C) 15 km/fat. (D) 32 km/feraT,

Correct Option : C



Explanation :

(C) 17 kms
!_ul—
15 kms 415 kms

——

17 kms

Question (113)

B is D's mother and C is D's brother. H is E's daughter whose wife is D. How are E and C related?
B, D ST HATAT§ dUT C, D & 1S § |H, E FHr 3T &, FSThr gy D §|E T2 C f5g YR Tt &2

(A) Father-in-law/&gY

(B) Brother-in-law/drelT

(C) Uncle/dar=r

(D) Brother/#1TS

Correct Option : B
Explanation :

. (B)

C is brother-in-law of E.

Question (114)



Direction |14—lﬁ.| : In question no 14 to 15,
select the missing number from the give
Tesponses.

fador (14-15) : w93 wEm 149 15 ¥, fau o fammei
H % famm v g

(&) 15 (B) 16
(C) 20 D) 25

Correct Option : A
Explanation :

(4) Y256 81 =416 0 =12
JVi6 625 = 4 25 = 10
JV625 81 = /25 9 =15

Question (115)

5 12 16 B 19 23

Ay 4 B 7
) 8 D) 9

Correct Option : C
Explanation :

[C) yB+5+12 = 25 =5
JIa+16+6 = 36 =6
J22+19+23 = Jpg =8



Question (116)

Which one set of letters sequentially placed at the gaps in the given letters series shall completed?
31ETRT T el TT THE Toll TUTAT IR HHIR TG I feT T 38T HWAT T G HLWIM?

a n_b__ncb__ncb

(A)bcabab (B)bacbab
(©)abcbcb (D)abbbcc

Correct Option : A

Explanation :
ab/neb/fab/nebfab/neb

Question (117)

Count the number of squares in the given

figure.

fom Ty, s § = w1 Hem wE sl
(A) 44 (B) 52

(C) 55 (D} 48

Correct Option : C

Explanation :
Number of squares = 12+ 22+ 32+ 42 + 52 = 55



Question (118)

Find out which of the figures (4), (B), (C) and
(D] can be formed from the pieces given in
question figure.

aEfE (A), (B), (C) 7= (D) § # S o
o W Al § R T S 8w W w

Question figures/Wy sigfaa :
Qv
Answer figures /377 Wil -
A
) B) © ]

Correct Option : B

Question (119)

Directions (19-21) : In the following questions, a series is given with one terms missing.
Choose the correct alternative from the given ones that will complete the series:

fder(19-21): rafaf@a weat #, v srgeer R @ forwst v ve ofea 3|Rw av Reedi ¥ a4 ag
eI fahed AT St ITha F QU A |

13, 15, 18, 23, 30, 41,

(A) 54 (B) 56

(C) 58 (D) None/as gt

Correct Option : A

Explanation :
(A) 13 15 18 23 30 41 54
AN A AN A

+2 +3 +3 +7 #11 +#13



Question (120)

13,15,33,_ ,1093
(A) 132 (B) 136
(C) 142 (D) 148
Correct Option : B

Explanation :

B)13x1+2=15
15%x2+3 =33
33x4+4=136
136 x 8 + 5= 1093

Question (121)

225, 625, 1225, 2025, 3025,
(A) 3825 (B) 4325
(C) 4225 (D) 4825

Correct Option : C
Explanation :

. [C) 225 625 1225 2025 3025 4225

TR TR T SUE T |
15 25 35 45 55 65
| 1l 1l l 1l t
+10 +10 +10 +10 +10

Question (122)



Choose the correct water image of the given
question figure from amongst the four
alternatives.

fem m =m fawed ¥ § W @A w1 TR A9
wiafaa =1 =97 F)

e
M BEEQRPEZN

(A BA2OKLO9S (Bl BK20KLOS
C)BK20¥LeS D) BKSOdLES

Correct Option : B

Question (123)

A square sheet of paper has been folded and
punched as shown below. How will it appear
when opened?

FITE F T TN T F A4 FTEN T1E1 741
oe fFm m §1 =@en W ?

Question figure/W¥T AR
r"r‘ r{r‘
r o
# o S D I —
P A KX o
: i s i’ Gk
Answer figures /397 Wil
. L] - - L] [N n ’ : o * : : "
LR I L - [ R L e e
"F :: l" '1- :'F : [+ & LR l-i‘ l:
HEG [ FEE B A K B

& B © D

Correct Option : C
Explanation :
(C)

Question (124)



If DHARAM VEER = 1636 OH MY GOD = 944 TUM BIN = 99 then ROCK ON = ?
Ife, DHARAM VEER = 1636 OH MY GOD = 944 TUM BIN = 99 d@ ROCK ON = ?

(A) 1382  (B) 416
(C)818 (D) 924

Correct Option : B

Explanation :
(8) DHARAM ~ VEER
B 4
lﬁz l4.1
36 16 = 3616—* 1636

OH MY GOD

2 2 3
l:’ 12’ 13’
4 4 9 =449 =% 944

TUM BIN

3 3

132 laz

=} 9 =99 =099
ROCK ON

4 2

R

16 4 =161 =¥ 416

Question (125)



From the given answer figures, select the
one in which the question figure is
embedded.

g T IW aEfE § 9, 39 aEfa ®1 9f famt
U W Aeited 2
Question figures /Uy smw=faal :

163

(A) (B) (€)

Correct Option : C
Explanation :
(C)

Question (126)

Which of the following has been named as the world's fastest supercomputer, as per recently
released Top 500 list of supercomputers?

foeaAfafa 7 & grer & 7 STy Y 918 Shegex Hr g & 3re7ar 2§ 500' 7 & 5 gforar 1 qady o
IR FY AATh fohar arar g 2

(A) Tianhe-2/feaTe-2

(B) Sunway Taihulight/He1d fegege
(C) IBM Sequoia/3T$se# Tenigar
(D) Cori/®Rr

Correct Option : B

Explanation :
Sunway Taihulight has been named as the world's fastest supercomputer title, as per recently



released semiannual Top 500 list of supercomputers. It is developed by the China's National
Research Centre of Parallel Computer Engineering and Technology (NRCPC). Taihulight can
perform 93 quadrillions calculations per second (petaflop/s). It is intended for use in research and
engineering including climate, weather, life sciences, advanced manufacturing and data analytics.
The TOP 500 list is considered as one of the most authoritative rankings of the world's
supercomputers. It is compiled on the basis of the machines' performance on the Linpack
benchmark by experts from U.S. and Germany.

Question (127)

The Consultative Committee of Members of Parliament for Railway Zones is constituted by the:
jsyos

{oTd 8151 & [l HHe & HeET T HellgehR AIATH fohdeh SaRT TS T SATell & 2
(A) President of India/$TRd & Irseqfa

(B) Ministry of Railways/el HATT

(C) Ministry of Parliamentary Affairs/STEIT HATHAT &l AT

(D) Ministry of Transport/aRdage HaTerr

Correct Option : C

Explanation :

Main purpose of these Committees is to provide a forum for informal discussions between the
Government and Members of Parliament on policies and programmes of the Government and the
manner of their implementation.

Question (128)

The technique used to transmit audio signals in television broadcasts is:

CNfaSTsl TART & TS Hohdl o TAROT & folT Fohd demelieh ol SEAATS [T SITAT & 2

(A) Amplitude Modulation/3TTH AT eINeT
(B) Frequency Modulation/3TgfT HATSereeT

(C) Pulse Code Modulation/Tes g HIsZ eIl



(D) Electromagnetic/fa]d garehrar

Correct Option : B

Explanation :

Frequency Modulation: It is a process in which the frequency of the carrier is varied in accordance
with the instantaneous value of modulating voltage. In telecommunications and signal processing,
frequency modulation (FM) conveys information over a carrier wave by varying its instantaneous
frequency. FM is most commonly used for radio and television broadcasting.

Question (129)

The 2016 Great Indian Film and Literature Festival (GIFLIF) will be held in which state?
e Sf3TeT fher 3R @Ifgca #elcHd (GIFLIF) 2016, 70 Us # 3mafora fvar swen?
(A) Uttar Pradesh/3aR w2t

(B) Maharashtra/HgRTS¢

(C) Assam/318H

(D) Haryana/gRarmom

Correct Option : D

Explanation :

The 2016 Great Indian Film and Literature Festival (GIFLIF) will be held at DLF Cyber Hub in
Gurugram, Haryana from December 2 to showcase the vernacular spirit of Indian film and literature.
The three day festival will include panel discussions on an array of themes ranging from filmmaking,
digital media, advertising, publishing, literature, script writing and film screenings, besides a play and
a music concert.

Question (130)
With reference to the United Nations Convention on the Rights of the Child, consider the following:
Sl o HTARRT I Gl TSE T HEHI o Heof H fFrafafed w o

1. The Rights of Development/ Ta&r T & 38R



2. The Right to Expression/ 3fficaferd & foiw 38R
3. The Right to Recreation/ #siRsel & foIT SR
Which of the above is/are the Rights of the child?
3 H T hleT-AT/A Idi & ARG ?

(A) 1 only/ahaer 1
(B) 1and 3/1 3R 3

(C) 2 and 3/2 3iRX 3

(D) 1,2 and 3/1,2 3R 3

Correct Option : D

Explanation :

The Convention on the Rights of the Child (adopted on Nov. 20, 1989) is the first legally binding
international instrument to incorporate the full range of human rights i.e. civil, cultural, economic,
political and social rights.

Question (131)

Which Amendment Act is referred as mini constitution ?

RleT-TT TR A oy AfAeTeT & &9 & ST ST & 2

(A) 7th Constitutional Amendment Act, 1956/7aT GTam=T GeMerT rfAfaTe, 1956

(B) 24th Constitutional Amendment Act, 1971/24dT Hfa4TsT Ty 3ifafagsT, 1971
(C) 42nd Constitutional Amendment Act, 1976/42aT Hia4TeT HeeT fafaT#d, 1976

(D) 44th Constitutional Amendment Act, 1978/44aT GfaeTeT TeeT Jfafag#, 1978

Correct Option : C

Question (132)

The book "A Season of Ghosts" has been authored by whom?



qEceh “ T HIste 31T eieeq” fohereh eanT forar arar g 2
(A) Amrish Tripathi/3rErer Sarér

(B) Chetan Anand/ddsT 3Tsig

(C) Ruskin Bond/RT&he 013

(D) Milan Ganguly/f&refT aTrarelr

Correct Option : C

Explanation :
The book "A Season of Ghosts" has been authored by Ruskin Bond. It is an entertaining book, which
includes interesting short stories about the mists and mellow magic of Bond's beloved mountains.

Question (133)

Dharambir Singh is associated with which sports?
e g o Wel & WY o3 gU 87

(A) Sprint/f&ie

(B) Football/gesier

(C) Cricket/fshehe

(D) Boxing/HerehelTsit

Correct Option : A

Explanation :

Haryana sprinter Dharambir Singh is in news because he has been slapped an eight year ban by the
National Anti-Doping Agency (NADA) because of his second dope-related offence. Earlier, he was
barred from representing India in the 2016 Rio Olympics at the last minute for failing a dope test.

Question (134)

Which among the following National Highway routes is the longest?

erfaf@d Al & @ Hi9-97 Gad o« TET ToTART §2



(A) From Hazira to Kolkata/ §SiRT & shlelehdl doh

(B) From Cuttack to Chennai/ ¢ & deels

(C) From Pathankot to Samakhiali/ T8Il & HHEITT
(D) From Delhi to Dankuni/ f&eeit & getepeit

Correct Option : A

Explanation :

The second national highway of Indian NH-6 is the major project of National Highway network of
India. NH-6 run through the west to east corner of India via 6 states as well as many cities and
towns. Length of KolkataHajira NH - 1949 km.

Question (135)

The religion of early Vedic Aryans was primarily of:

TR (ITefietenlel) 7 dfcen 3T & & H HE&T &9 § T ST g2
(A) Bhakti/sifera

(B) Image worship and Yajnas/ H\ﬁqu dIRTT

(C) Worship of nature and Yajnas/ 1;@% @rg\sﬂ dIRTa

(D) Worship of nature and Bhakti/ Sehfel T qaTT 3T srfereT

Correct Option : C

Question (136)

Which one among the following covers the highest percentage of forest area in the world?
oot & & pleT-am &1 gferar & Tt Hrer (Ffcerdd) fed # el gU g?

(A) Temperate coniferous forests/ HHRMATSUT ALY T

(B) Temperate deciduous forests/ THMATSOT TSTar et

(C) Temperate monsoon forests/ THLATSOT AT el del



(D) Tropical rain forests/ 3SuThfeaelT auT g

Correct Option : A

Explanation :
Temperature coniferous forests covers the highest percentage of forest area in the world

Question (137)

Where is the headquarters of the Central Drugs Standard Control Organization (CDSCO)?
Foar Jiwer Hioteh fAGTUT HaTeT (CDSCO)HT HEATT Fei o2

A) Bangaluru/daree

(B) Chennai/d==s

(C) New Delhi/as el

(D) Pune/qor

Correct Option : C

Explanation :

Recently, the Ministry of AYUSH has decided to set up a central regulatory structure for AYUSH
drugs as a part of Central Drugs Standard Control Organization (CDSCO) to enforce the provisions
for Ayurvedic, Siddha, Unani and Homoeopathic drugs in coordination with the State regulatory
authorities. The CDSCO is the national regulatory body for Indian pharmaceuticals and medical
devices and is headquarters is located at New Delhi.

Question (138)

The 2016 World Travel Market (WTM) has started in which city?
dos adl Ahe (WTM) Toha 26T & & fohar ST @1 2

(A) London/eigeT

(B) New Delhi/sT$ feeel

(C) Geneva/fSi=iar

(D) Berlin/afelet



Correct Option : A

Explanation :

The 2016 World Travel Market (WTM), the leading global event for the travel industry, has started in
London, United Kingdom (UK). The 3-day business-to-business exhibition for the worldwide travel
and tourism industry will be attended by almost 50,000 senior travel industry professionals,
government ministers and international press. Ministry of Tourism, Government of India (Gol) has
participated as Official Premier Partner at WTM London 2016.

Question (139)

Optical fiber works on the principle of:
e HIaR fohe RigHid 9= H1H T & -
(A) Total internal reflection/quT 3TdRe TRTacsT
(B) Refraction/3dcieT

(C) Scattering/telaTr

(D) None of these/3# & &S Tg1

Correct Option : A

Explanation :

An optical fiber is a thin, flexible, transparent fiber that acts as a wave guide or "light pipe" to transmit
light between the two ends of the fiber. An optical fiber transmits light along its axis, by the process
of total internal reflection. When light traveling in a dense medium hits a boundary at an angle larger
than the "“critical angle” for the boundary, the light will be completely reflected. This effect is used in
optical fibers to confine light in the core.

Question (140)

The resolution for removing the VicePresident of India can be moved in the:
HR 7 RIS &Y GeTet 3 TNT SEelTar Secler fohaT STTelT & 2

(A) Lok Sabha alone/3Tahel dliehdslT H

(B) Either House of Parliament/&&c o foraY 8ff dea

(C) Joint Sitting of Parliament/&&e & Fgerd HF 7



(D) Rajya Sabha alone/ 37chel ITTHT H

Correct Option : D

Explanation :

Article 67(b) in the Constitution of India states that a Vice President may be removed from his office
by a resolution of the council of States passed by a majority of all the members of the council and
the House of the People, but no resolution for the purpose of this clause shall be moved unless
atleast fourteen days notice has been given of the intention to move the resolution.

Question (141)

Which of the following organisms can serve as a bio fertilizer for rice crop?

fArafafld & & Fia ¥ S arae H vH 7 ST 39T & F 7 Agg AT § 2
(A) Blue-green algae/sirell g1 der

(B) Rhizobium speciesRTgal e It

(C) Mycorrhizal fungi/FgsitdT Heer e

(D) Azotobacter species/TaleldeFel Tl

Correct Option : A

Explanation :
Blue green algae is used as a biofertilizer in rice crop. Blue green algae has the nitrogen fixing ability
which enhances the production of rice.

Question (142)

Haemophilia is a genetic disorder which leads to:

oAt Terar ueh 3rrefartien STy 8] I8 giar g----

(A) Decrease in haemoglobin level/fgRITeN e & TAX H FHaAT & HROT
(B) Rheumatic heart disease/3T1f&aT 9T AT g&T 9T & HROT

(C) Decrease in WBC/ Th¢; IFd hITAHRT H HaT o hIROT



(D) non-clotting of blood/XeF AT T g TetelT

Correct Option : D

Explanation :
Haemophilia is a sex-linked recessive disorder. Clotting of blood is abnormally delayed in such a
way that even a simple or small cut will result non stop bleeding in affected individual.

Question (143)

Match List-I with List-1l and select the
correct answer using the codes given below

the lists.

TEit-1 F1 gEi-11 § gafem % e T gieE

T | HieE 52 = TN T 98 I

EZl

List-1/g=i-1  List-II/9=0-11

a. 1556 1. Battle of Haldi Ghati/
E e e e

k. 1600 2. Nadir Shah's capture of
Delhi /f&ee T iiETme =1
el

c. 1686 3. Death of Shivaji/fmEmst
1 7

d 1739 4. Grant of Charter to East
India Company/3= =@
= 7 = 3 A

5. Accession of Akbar/

FFEL 1 TS

Codes /3Z:

ab c d

A 3 4 2 1

B 54 3 2

IC) 52 1 a4

b1 s5 3 2

Correct Option : B

Explanation :

The Battle of Haldighati was fought between the Mughal Empire and the forces of Mewar on June
21, 1576 at Haldighati in Rajasthan, India. It was a decisive victory for the Mughal Emperor Jalal ud-
Din Muhammad Akbar's general Raja Man Singh against the Maharana Pratap Singh of Mewar.
Akbar was 14 years old when he was crowned at Kalanaur in 1556.

Question (144)



In 1930, Mahatma Gandhi started Civil Disobedience Movement from:

HETCHT L o FideTa 71T JHieTelet 1930 # % fawa -
(A) Sevagram/SaTaTH

(B) Dandi/asy &

(C) Sabarmati/aTeR#dr &

(D) Wardha/aelT &

Correct Option : C

Explanation :
On 12 March, 1930, Gandhi started his civil disobedience movement by starting Dandi March from
Sabarmati Ashram in Gujarat and reached Dandi on 6 April 1930 and broke the salt law.

Question (145)

Value of a commaodity expressed in terms of money is called
Hol o &Y H e a&d o Hod I FIT Hgd ¢ ?

(A) Price/d5ed

(B) Demand/HTeT

(C) Utility/39afarar

(D) Money value/#ar Hed

Correct Option : A

Question (146)

Which of the following elements provide colours to fireworks?

fArafafld & & Hia-ar dca anfazersh & & fav BT e Har g 2
A) Zinc and sulphur/fSie 3R Tew

(B) Potassium and mercury/ar e 31T arT



(C) Strontium and barium/Feifeeas 3R aRT#
(D) Chromium and nickel/sIfaae 3R Afher

Correct Option : C

Explanation :

Creating firework colours is a complex endeavour, requiring considerable art and application of
physical science. Strontium and barium both are alkaline earth metal and are extremely reactive.
They both impart characteristic colour to flame. Strontium salts impart a red color to fireworks.
Strontium compounds are also important for stabilizing fireworks mixtures. Barium is used to create
green colors in fireworks, and it can also help stabilize other volatile elements.

Question (147)

How much Minimum Support Price (MSP) has been hiked in wheat by the Union Government for
2016-17?

e TRAR @RI 2016-17 H g & TAT fohcell “wgafcal TASA Hed (MSP)",# seldll 1 15 82
(A) Rs. 60 per quintal/60 ¥ 9T fohdeer

(B) Rs. 100 per quintal/100 & 9fa fohaeer

(C) Rs. 200 per quintal/200 ¥ 9fd fehdeer

(D) Rs. 150 per quintal/150 ¥ 9fa fohaeer

Correct Option : B

Explanation :

The Union Government has hiked Rs. 100 per quintal in wheat Minimum Support Price (MSP) to Rs.
1,625 per quintal for the 2016-17 and pulses by up to Rs. 550 per quintal to boost the output of these
rabi (winter- sown) crops and check prices. Apart from this, MSP on Gram has been hiked to Rs.
4,000 per quintal including bonus, from 3,500 rupees per quintal, while MSP of Masur has been
raised to Rs. 3,950 per quintal from Rs. 3,400. The support price on Mustard and safflower has been
hiked to Rs. 3,700 per quintal each. On Barley the support price has been increased to Rs. 1,325
from Rs. 1,225 per quintal. To incentivize cultivation of pulses and oilseeds, CCEA also announced
a bonus on these crops over and above MSP. The MSP is the rate at which government buys the
grain from farmers.



Question (148)

Which one of the following is another name of RDX?
frfaflrd 7 & 3RETa &7 gaw A1 F4T §-

(A) Dextran/sFaceT

(B) Cyclohexane/aTsaligar sl

(C) Cyclonite/d@TgFailATSe

(D) Cyanohydrin/@Ts-AIgIsgeT

Correct Option : D

Explanation :

RDX, initialism for Research Department Explosive, is an explosive nitroamine widely used in
military and industrial applications. It is also known less commonly as cyclonite. Its chemical name is
cyclotrimethylene trinitramine.

Question (149)

Qil rises up the wick in a lamp because

&I9eh H d'el J1 & F9X dedT § FAlfdh

(A) Oil is very light/cTel go<hT 81T &

(B) Of the diffusion of oil through the wick/ STl & FTEIH T Tl TR &Il &
(C) Of the surface tension phenomenon/ & d=1Td % HROT

(D) Of the capillary action phenomenon/ ST HTshaT & HROT

Correct Option : D

Question (150)

Selling cost is an element of which competition ?



TshT 7o fone Tael &l dea § 2

(A) Monopolistic Competition/TshTTaIR FfaEaeT
(B) Perfect Competition/3weT gfaeae®

(C) Pure Competition/[er Ficreqe

(D) Monopoly/ THIfI&R

Correct Option : A

Question (151)

Directions (51-52): The following questions are
based on the pie-chart given below. Study the
pie-chart and answer the following questions.
T (51-52): Frer womr ey o o ord = = smem
ut #1 urd \rE W erg =t A e uwet e )

Printing Cost




What is the walue of central angle for the
sector of "Advertisement Charges" 2

AT s T FEE s T e ?

1® a
5 (B) 26

(C) 64.8° (D) 37.5°

|A) 22

Correct Option : C
Explanation :
(C) 100% = 360°
360°

1% o0

. 18%= 22048 _ 4 &
SRR o0 T

Question (152)



Directions (51-52): The following questions are
based on the pie-chart given below. Study the
pie-chart and answer the following questions.
T (51-52): Frer wom ey fad o urd = & smamw
w7 #1 urd =rF =T e = Awn ey uwe w Iy A

Printing Cost

If the "miscellaneous expenses" are Rs. 2360, then how much more are "binding and cutting
charges" than "Royalty"?

Ife RAfaYr @<t $2360 §,aT “ Il A ST 2T T R fhde 3if8w § 2
(A) Rs.1680 (B) Rs. 1770
(C)Rs. 1960 (D) Rs. 2140

Correct Option : B
Explanation :
(B] Difference in percent cost of ‘binding and
cutting charges' and "rovalty’
=18 -15)%=3%
MNow, -» 4% of total cost = ¥ 2360

23603

S 3% of total cost =% T =3 1770



Question (153)

C is 20%% less than B. D is 40% more than
C. Ais 40% less than C. D 1s % more
than A.

C,BH20% FAEID,C ¥ 40% #fus 21 A, C
HA40% FHRID, A ® o, Al 2

1 2
133 66—
(®) 1333 B 663

1 :
(c) 333 (D) None /=5 &l

Correct Option : A
Explanation :
(A A B C D
48 100 a0 112
(112-48)" 100
48

O Required percentage =

_ 647100 _ 400
T 48 3

= 133£%
3

Question (154)

A person deposited Rs. 400 for 2 years, Rs. 550 for 4 years and Rs. 1200 for 6 years. He received
the total simple interest of Rs. 255. The rate of interest per annum is

Teh e o1 § 400, 2 99 & T, %550, 4 ¥ & foIw AT & 1200, 6 I & fow STAT f&ha | 38 FHol
HTYROT SATST &.255 T §34T|a1f§$€aﬁr£ra'\rﬁm%?

(A) 45%  (B)5%
(C)25% (D) 2%

Correct Option : C
Explanation :



(C] Let the annual rate = R%

ATQ,
400x2xR  550x4xR  1200x6xR
100 100 100

-7255

= B8R+22R+T2R =% 255

255
= 102R =255 =R= 1oz =2.5%

Question (155)

A man buys pencils at the rate of 3 for Rs. 5 and sells them at 5 for Rs. 3. His profit or loss percent
is:

T ATFT 5 # 3 F 919  ITAT WSar & AT 3 7 5 3 919 & ST & | TR 19 AT gTAT Ffarerd r
g2

(A) 45% (B) 64%
(C)50% (D) 54%

Correct Option : B

Explanation :
(B] Let the no. of penals bought by person = 15

[as L.C.M.of 3 & Sis 15)
C.P.of3pencils=%5

C.P. of 15 pencils = g x 15=% 25
SP. of 5pencils=% 3

S.P. of 15 pencils = g x 15=%9
S Loss=%(25-9)=%16

16
Loss percent = 35 = 100 = 64%

Question (156)



If3sec A-2cosB= .3 and #B = 30°, then
the value of cos (A - B) sin (A + B) is

afs 3secA-2cosB= /3 79 #B=30° & @
cos (A— B) sin (A + B) F1 99 #1 22

(A % B) g
€ 3 (D) %

Correct Option : B
Explanation :
(B)3secA-2cosB=.3

= 3 sec A-2cos 30° = .JE
::-35.3-:&—2-% =3
= dsec A= 2-,}'3

2
= sec A= E = gec 307

= A =30°
Socos [A-B) sin (A + B)
= cos (307 - 307 sin (30° + 30°) = cos0” = sin

B_B

60" =1 =
2 2

Question (157)

If a man were to sell his chair for Rs. 3600, then he would lose 25%. To gain 20% he should sell his
chair for-

e veh cafed & 3600 # AT T Seclm &, A 3/ 25% T T 81Tl & | 20% HT TH FATA & forw
39 391 HHf I el I S==AT glamT?

A)Rs. 5760  (B) Rs. 5350
(C)Rs. 5680 (D) Rs.5920

Correct Option : A
Explanation :



100
75

(&) CP of chair = = 3600 =% 4800

. 120
To gain 20%, Req. SP=

100 = 4800=% 5760

Question (158)

1+sin®1°+ s8in® 3°+ gin® 5° ........ sin? 85° +
sin® 87* + sin? 89° is equal to

1+ sin?1” + sin® 3° + sin? 5 ........ sin? 85" +
sin? 87° + sin? 89° A -

() 21% (B) 22

1 1
© 223 (D) 235

Correct Option : D
Explanation :

(D) sin® 1° + sin® 3° ... sin? 85° + ... + s5in® 897
=sin® 1*+ ... + cog? 1° (sin® 897 = cos® 1°)
[ sin(90° — 8) = cosd7|
It is a series of AP
B89=1+n-1)x2 . n=45

8in’45°

22 terms 22 terms

=22 + 5sin*™45° = 22%
O1+sin*l®+sin® 3% + sin* 57 ... sin® 85°
1 1

+s8in? 87 + 50?89 =1+ 22— = 23~
2 2

Question (159)



In the given figure, MO| |QR and OR| | NM
and PO : 00 =45, then ON : OQ is

fed ™ fa3 & MO||QR @ OR||NM @=m
PO:0Q=4:57%,d ON:0Q -

R

=

P N

() 4:9 [
(C) 9:5 [

B8 o
o
O B

Correct Option : A
Explanation :
(A

A

p 0 Q0 P N 0

In APQR,
- MO| |QR

——=——=—=4:5 ..i)

In APOR

OR| |NM

PN _PM_4 .
“NO MR 5 L)
Let PO = 40

- 0Q =50 and

Question (160)



A, B and C can complete a work in 10, 12
and 15 days respectively. They started the
work together, but A left the work before 5
days of its completion. B also left the work
2 days after A left. In how many days was
the work completed?

A, B 7 C fF =@ 1 F99: 10, 12 7= 15 &=
H & g B 9 UF 9 T w0 9F w9 €, o
FHTE R IS EaATESE A TIAT
oA % 2 7 92 B o 79 92 =W 2 v '
ferdi & Tmra gam an?

(A) 8 days/fEA

(B) 11% days/ T

€ 15% days/f

(D) 7 days/f3

Correct Option : D

Explanation :

(D) Days Efficiency
A— 10 6
B—=12 60 — 5
C—=15 4

Total work = 60

A left the work before 5 days of completion
Le. work left by Ais 6 = 5 =30

B left the work before 3 day of completion i.e.
work left of B is

5=3=15

MNow total worlkk =60+ 30 + 15 =105
Cdope < 105 _105

work done 65 15 ays

Question (161)

2 men or 3 women or 4 boys can do a piece of work in 39 days. In how many days will 1 man, 1
woman and 1 boy do the same work?

2 31T 7 3 3R IT 4 S Feh S 1 39 AT & FT Toha! & |13 1 3R 3R 1 s=ar v Ty
AR, 38 T & fTohdel feaAT & FATCT HIaT ?

(A) 42 days/fea



(B) 36 days/fea
(C) 40 days/feaT
(D) 45 days/fesT

Correct Option : B

Explanation :

39
(B) Required no. of days =

1 1 1
— —
2 3 4
_ 39 39x12
T B+4+3 13

12

= 36 days

Question (162)

If cos 43° = %, then the value of
f\,’x +y
sind3° 1s-
X

% cos 43° = — 21, 1 sin 43° =T OF F
Jxt +y

X2+ y° q'lxz — P
(A) —— B —
y y
) —2L— (D) None /& T&
x‘! +y‘g

Correct Option : C
Explanation :




(C) cosd43® =

Question (163)

&

+

If x + y =2z, then the value of x—z Y-z

+ 215
M x+y=228, A —— + +2 % °HA
X+vy Z &, vz y-z
EAT-
(A) 4 (B) 3
7
€ 3 (D) 5
Correct Option : B
Explanation :
(Bl x+y=2z
=x=2z-y
=x—z=2z-y-z=z-y
X Z x z
x—z+y—z+2=x—z_z—y+2
X — =
= - +2= +2=1+2=3




Question (164)

The average of 40 numbers is 25. The average of the first 18 numbers is 21 and that of the next 21
numbers is 28. The last number is:

A0 TEIT3T T A 25 § [TUH 18 TEAT T 34 21 § TAT 379Tel 21 FE&ATHT 1 334 28 g| Tl
TEIT §----

(A)36 (B) 32
(C)34 (D) 38

Correct Option : C

Explanation :
(C) Let the last number be x.
According to the gquestion,
183 x 21 +21 x 28+ x=40x 25
= 378 + 588 + x= 1000
= 966 + x= 1000
= x=1000-966 = 34
. Required Number = 34

Question (165)

A play ground is in the form of an isosceles triangle. The base of the ground is 24 m long and the
cost of planting grass in it at the rate of 50 paise per m2 is Rs. 30. Find the length of each side of
equal length?

Teh Wl 1 Helol Teh THTGSTE THT & TR T & [HeleT T TR 24 #Y. T § 1 38 50 /et
HIET T & I b1 AeT Y SI1eTeT & 30 & | SRTaR oIS aTell 3TN 37 & Fedeh i ofFaTS 7T o |

(A) 14 m/&.  (B) 16 m/AY.

(C) 18 m/AT. (D) 13 m/AY.

Correct Option : D
Explanation :



(D) Let the length of each of the equal side of
the ground be x metre
Base of the playground = 24 m

30
.~ Area of ground = =0 = 100 = 60 m*

But, the ground is in isosceles shape

a
.~ Area of ground = r .,|I'.:|.J,L-2 —a?

[where a = base, x = each of the equal sides]|

24— .
S 4x? — (24 =60

= 4x - (24)* = (10)?
= 4x?— 576 = 100
= 4x*— 676

76
= x= T =169

=x=13
.. Length of each of the equal side = 13 m

Question (166)

The difference between the interior and exterior angles of a regular polygon is 90°. The number of
sides in the polygon is

HATGIST b 3ecl: TUT ST I0T T AT 90° §|TGIST b AT hr HEAqT FAT & 2
(A) 4

(B) 8

€6

(D) can't be determined/3ITd =Tg TSR3 ST Tehcll

Correct Option : B
Explanation :



. [B) Here interior angle — exterior angle = 90°
(n-2)x180 360
n B mn

=90
1

0 —[in-2) x 180 - 360] = 90
1

0 —[180n - 360 - 360] = 90

1
0 —[180n - 720] = 90
0 180n — 720 = 90n

0 90n = 720
Qoo 720
"7 90

O Required no. of sides = 8

Question (167)

If 2.5 tan 6 = 2, then the wvalue of

N [55inﬂ—3cos[}
53inﬂ+3msE}J

15.

Ssinﬂ—ﬂmsﬂ]

Sainf+3cos0

afE 2.5tan0=2 &, A 1 + (

oE 0 E?
9 8
® - ® -
4 S
© 3 O 3

Correct Option : B
Explanation :



| 4=

(B)2.5tan =2 =5tan @ =4 O tan 0 =

N 14+ S5sinf -3 cos _1s Stanf -3
o 58inB+3cosB  StanB+3
SKi—3
14 —2 1+4.8
= —— = + —_— = -
5x%+3 7T

Question (168)

If O is the centre of the circle, then the
value of 'x' in the adjoining figure is

Ifg O 99 #1 &5 2, 9 fau o fam § ' F1 9= =

27
N
£
(A) 85° (B) 75°
(C) 65° (D) 55°

Correct Option : C
Explanation :
(C) £COB = 360° — (140° + 90°) = 130°

1 1
=x=sCAB= 3 LCOB = 3 = 130° =657

Question (169)



The parallel sides of a trapezium are m and
n respectively. The line joining the mid-
points of its non-parallel sides will be

T HHTE IgqS %1 HHIGL qAC FHHI: m 997 n
B 3@ srEEie genel & 9 fag w1 Sigd 9 @

1 Bit?
2mn
—
m+n B Vmn
(m-n) [m+n)
© % O —5—

Correct Option : D

Explanation :
(D) Let ABCD is trapezium and E, F are the
mid points, then

1
EF = 5 (AB+ DC)

m+n
2

1
= EF= §{m+n:|=

- {AB=m, DC=n]

Question (170)

P can write 100 page in 25 hrs. P and Q together can write 185 page in 37 hrs. In what time can Q
write 25 page?

P, 25 ¢ #H 100 Y5 T Hehell & ,P 3N Q Teh &Y Aot 37 B¢ # 185 56 fod Hehd §]Q T 25
9SS for@el & fohefell aehcl o1 Hehell & ?

(A) 17 hrs/aic  (B) 25 hrs/ec
(C) 21 hrsfge (D) 23 hrs/ac



Correct Option : B
Explanation :

100

(B) P can copy o5 - 4 pagesin 1 hr.
185 .

(P + Q) can copy 37 S5 pagesin 1 hr.

S Qecan copy (5-4) =1 pagesin 1 hr.

25
2 Q can copy 25 pagesin 1" 25 hrs.

Question (171)

Out of the 1000 inhabitants of a town, B(%
are males of which 40% are literate. If,
among all the inhabitants, 50% are literate,
then what percent of the females of the
town are literate?

TF W F 1000 @ ¥ gEY F 80% H F 40%
fafira 21 af% gt @il § 50% fafem 2, @ ve o

el wirem Afeand fafim 22

(A) Eﬁ-g% (B) 33%%
(C) 80% (D) 90%

Correct Option : D

Explanation :
(D} Number of males = 80% of 1000 = 800
Number of females = (1000 — 800) = 200
Number of literates = 50% of 1000 = 500
Number of literate males = 40% of 800 = 320
MNumber of literate females = (500 — 320) = 180

&l 80 | 0
. Required percentage = 200 lﬂﬂc:—]%

= 90%



Question (172)

) _DE 3
In the given figure, if BC ~ 3 and AE = 18,

then find the value of AB.

DE .
fg e fom A, A oo = g 7 AE = 18 %, 9 AB

F1 OH AG F

(A) 24 cm /=4 (B) 12 cm /5
(C) 15 cm /3, (D) 18 cm /¥,

Correct Option : A
Explanation :
(A) In AABC and AADE,
ZBAC = FDAE
= 180° — (75° + 65°) = 40°
ZAED =75 = ZABC

- AAED ~ AABC
DE_AE_AD _3 _18
"BC AB AC 4 AB
= AB =24 em

Question (173)



1
If =<+ e =322 and x = 1, then the value of

. L
x—x:, 15

1 . 1
‘Jﬁx"+x—4=3223ﬂ1x}1%,mx“—FH
o -
(A) 56 (B) 76
(C) 73 (D) 38

Correct Option : B
Explanation :

1y 1 .
(B) [f+?] =x4+F + Iyt

L
.=

=322+ 2 =324
1
x‘+F=lE
1Y, 2xl
—— = +—_ —
aga.l.n[x xJ X -
=18-2=16
1
.x—-— =4
X

1
|

1
— =64+12=76



Question (174)

The speeds of A and B are in the ratio 2 : 5. A takes 20 minutes more than B to reach a destination.
In what time will A reach the destination?

A YT B T el T 3T 2:5 & A ITcTed TR Tgael # B 1 39T 20 fAsTe Ao Fo7g aar & | A e
quaﬁﬁﬁmmWW?

(A) 3000 sec/THUs
(B) 2000 sec/TUs
(C) 70 min/Avs
(D) 80 min/A%Us

Correct Option : B
Explanation :
(B) Ratio of speeds =2 : 5
Ratio of time taken =5 : 2

Let the time taken by A and B be 5x minutes
and 2x minutes respectively.

Then, 5x — 2x = 20

20
:&3x=2ﬂUx=?

s Time taken by A = 5x minutes

, 208 100
= ES ?E minutes = 3 = B0 = 2000 sec

Question (175)

The contents of two vessels containing water and milk in the ratio 3 : 4 and 4 : 5 are mixed in the
ratio 1 : 2. The resulting mixture will have water and milk in the ratio

el aciall & Tl TUT QY 3:4 TUT 4:5 o 39T H § TUT So¢ 1:2 o 3eJdIT # T SITeT 838 TFehR Ired
ﬁr&mﬁm?ﬁama@wa@mr-rw%?

(A)97:124 (B)58:77
(C)83:106 (D) 77:93



Correct Option : C
Explanation :

(C) Milk in first vessel =

=1 tax

4

Water in first vessel = F
4
Milk in second vessel = E

Water in second vessel =

W en

ATQ, Water : Milk =

A e
=X — X r =X — X
7 9 C 7 9

= 83:106

Question (176)

Direction : In Question nos. 76 to 78 some part of the sentences have errors and some are
correct. Find out which part of a sentence has an error and b lacken the ova | [ ]
corresponding to the appropriate letter (A), (B), (C). If a sentence is free from error, blacken
the oval corresponding to (D) in the Answer Sheet.

Leaders like Narendra Modi (A)/ are not born (B)/ on everyday. (C)/ No error (D)

Correct Option : C

Question (177)

There is only one cure (A)/ to the evils which newly (B)/ acquired freedom produces and that cure in
freedom. (C)/ No error (D)

Correct Option : A



Question (178)

In India, hill stations (A)/ usually have (B)/ beautiful sceneries. (C)/ No error (D)

Correct Option : C

Question (179)

Directions : In Question nos. 79 to 81, sentences given with blanks to be filled in with an
appropriate word(s). Four alternatives are suggested for each question. Choose the correct
alternative out of the four and indicate it by blackening the appropriate oval [ ] in the Answer
Sheet.

How have you come such a precious diamond?
(A) upon  (B) by
(©to (D) across

Correct Option : B

Question (180)

Banning notes will not curb black money, says think tank that called demonetization
(A) out (B) in
(C) forth (D) for

Correct Option : D

Question (181)

We usually give our servants the old clothes we cast
(A) away (B) aside
(C)out (D) off



Correct Option : A

Question (182)

Directions : In question nos. 82 to 83, out of the four alternatives, choose the one which best
expresses the meaning of the given word.

STUBBORN

(A) Obstinate (B) Willing

(C) Annoy (D) Steady

Correct Option : A

Question (183)

SYMBIOSIS

(A) Failure

(B) Irregular

(C) Close association

(D) Violent

Correct Option : C

Question (184)

Directions :In question nos. 84 to 85, choose the word opposite in meaning to the given word.
INGENUOUS

(A) Cunning  (B) Unpredictable

(C) Innocent (D) Childlike



Correct Option : A

Question (185)

ADHERENT
(A) Follower (B) Antagonist
(C) Zealot (D) Aficionado

Correct Option : B

Question (186)

Directions : In question nos. 86, four words are given in each question, out of which only one
word is spelt correctly/wrongly out of them. Find the word spelt correct/wrong and mark your
answer in the Answer Sheet.

(A) Sanctimonous (B) Sanctimonius

(C) Sanctimonious (D) Sanctiminious

Correct Option : C

Question (187)

Direction : In Question nos. 87 to 89, four alternative are given for the Idiom/Phrase in bold in
below sentences . Choose the alternative which best expresses the meaning of the
Idiom/Phrase and mark it in the Answer Sheet.

The higher authorities tried to save him through best medical aids, but he slipped off the hooks.
(A) to show one's contempt for

(B) to deteriorate considerably

(C) to be unwell

(D) to die

Correct Option : D



Question (188)

A subdivision of Indian Army is always stationed to stand in the gap and keep the enemy engaged
out of the border.

(A) to stand forward in active defence of something

(B) to join together in a venture

(C) to be fair in dealings

(D) to act deceitfully

Correct Option : A

Question (189)

| went to them to settle their differences but they gave me the bird, so | would not go there again.
(A) to get the success quite impossible

(B) to make someone awaited

(C) to act foolishly

(D) to send away

Correct Option : D

Question (190)

Direction: In Question nos. 90 to 92, a sentence/ a part of the sentence is italicised in
underlined. Below are given alternatives to the italicised part at (A), (B), (C) which may
improve the sentence. Choose the correct alternative. In case no improvement is needed your
answer is (D). Mark your answer in the Answer Sheet.

Narendra Modi is cut up to be a great leader.
(A)in
(B) for



(C) out
(D) No improvement

Correct Option : C

Question (191)

A large number of people have fallen victim to dengue fever in Delhi.
(A) with (B) of

(C) from (D) No improvement

Correct Option : D

Question (192)

The greater is the increase in corruption, the harder it is for the people to survive.
(A) the (B) of
(C) is of the (D) No improvement

Correct Option : D

Question (193)

Direction : In Question nos. 93 to 95, in the following question, out of the four alternatives,
choose the one which can be substituted for the given sentence.

An occasion of great importance

(A) Herculean (B) Grandiose

(C) Exemplary (D) Momentous

Correct Option : D



Question (194)

One who studies selection trends by means of opinion polls
(A) Ornithologist (B) Psephologist
(C) Entomologist (D) Altruist

Correct Option : B

Question (195)

Detaining and confining someone
(A) Internment (B) Amnesty
(C) Articulate (D) Reflex

Correct Option : A

Question (196)

Direction (Q. No- 96 - 100) : In these question you have two brief passages with six questions
following the passage. Read the passage carefully and choose the best answer to each
question out of the four alternatives.

Passage -1

At this stage of civilisation, when many nations are brought in to close and vital contact for good and
evil, it is essential, as never before, that their gross ignorance of one another should be diminished,
that they should begin to understand a little of one another's historical experience and resulting
mentality. It is the fault of the English to expect the people of other countries to react as they do, to
political and international situations. Our genuine goodwill and good intentions are often brought to
nothing, because we expect other people to be like us. This would be corrected if we knew the
history, not necessarily in detail but in broad outlines, of the social and political conditions which
have given to each nation its present character.

The character of a nation is the result of its
(A) gross ignorance
(B) cultural heritage

(C) socio-political conditions



(D) mentality

Correct Option : C

Question (197)

At this stage of civilisation, when many nations are brought in to close and vital contact for good and
evil, it is essential, as never before, that their gross ignorance of one another should be diminished,
that they should begin to understand a little of one another's historical experience and resulting
mentality. It is the fault of the English to expect the people of other countries to react as they do, to
political and international situations. Our genuine goodwill and good intentions are often brought to
nothing, because we expect other people to be like us. This would be corrected if we knew the
history, not necessarily in detail but in broad outlines, of the social and political conditions which
have given to each nation its present character.

The need for a greater understanding between nations
(A) is more today than ever before

(B) was always there

(C) is no longer there

(D) will always be there

Correct Option : A

Question (198)

At this stage of civilisation, when many nations are brought in to close and vital contact for good and
evil, it is essential, as never before, that their gross ignorance of one another should be diminished,
that they should begin to understand a little of one another's historical experience and resulting
mentality. It is the fault of the English to expect the people of other countries to react as they do, to
political and international situations. Our genuine goodwill and good intentions are often brought to
nothing, because we expect other people to be like us. This would be corrected if we knew the
history, not necessarily in detail but in broad outlines, of the social and political conditions which
have given to each nation its present character.

According to the author 'the mentality of a nation' is mainly product of its

(A) present character



(B) international position
(C) politics
(D) history

Correct Option : D

Question (199)

At this stage of civilisation, when many nations are brought in to close and vital contact for good and
evil, it is essential, as never before, that their gross ignorance of one another should be diminished,
that they should begin to understand a little of one another's historical experience and resulting
mentality. It is the fault of the English to expect the people of other countries to react as they do, to
political and international situations. Our genuine goodwill and good intentions are often brought to
nothing, because we expect other people to be like us. This would be corrected if we knew the
history, not necessarily in detail but in broad outlines, of the social and political conditions which
have given to each nation its present character.

According to the author his countrymen should
(A) read the story of other nations

(B) not react to other actions

(C) have a better understanding of other nations

(D) have vital contacts with other nations

Correct Option : C

Question (200)

At this stage of civilisation, when many nations are brought in to close and vital contact for good and
evil, it is essential, as never before, that their gross ignorance of one another should be diminished,
that they should begin to understand a little of one another's historical experience and resulting
mentality. It is the fault of the English to expect the people of other countries to react as they do, to
political and international situations. Our genuine goodwill and good intentions are often brought to
nothing, because we expect other people to be like us. This would be corrected if we knew the
history, not necessarily in detail but in broad outlines, of the social and political conditions which
have given to each nation its present character.

Englishmen like others to react to political situations like



(A) others
(B) us
(C) themselves

(D) each others

Correct Option : C



